

FLORIDA DEPARTMENT OF TRANSPORTATION

DISTRICT SEVEN

SUMMARY OF BIDS TO BE OPENED JUNE 1, 2016

CONTRACT NUMBERS: Z-7041; Z-7042; Z-7043

FPN: TBA

**DESCRIPTION: Work consists of Pre-Event Emergency Signal Repair &
Generator Installation**

COUNTY: District Wide

CONTRACT NO.	CONTRACTOR	AMOUNT OF BID
Z-7041	Highway Safety Devices	\$710,222,454.00
Z-7042	American Lighting & Signalization, Inc.	\$786,815,270.00
Z-7043	Florida Safety Contractors, Inc.	\$1,051,345,270.84

DISTRICT CONTRACTS ADMINISTRATOR

June 28, 2016
DATE

**THE DEPARTMENT INTENDS TO AWARD CONTRACTS TO THE THREE (3)
LOWEST RESPONSIVE BIDS SHOWN ABOVE**

THIS CONTRACT WILL BE AWARDED SUBJECT TO AVAILABILITY OF FUNDS

Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes

-- POSTING NOTICE --

Pursuant to Section 337.11, Florida Statutes, any person adversely affected by a **bid rejection or contract award** shall file both a notice of protest and bond within 72 hours after the posting of the summary of Bids. If notice of intended decision is given by certified mail or express delivery, the adversely affected person must file both the notice of protest and bond within 72 hours after receipt of the notice of intent. A formal written protest must be filed within ten days after filing the notice of protest. Any person who files a notice of protest as to a bid rejection or contract award pursuant to this rule shall post with the Department, at the time of filing the notice of protest, a bond payable to the Department in the following amounts: For an action protesting a bid rejection or contract award that requires qualification of bidders, the Bond shall be equal to one percent of the lowest bid submitted or \$5,000, whichever is greater. For an action protesting a bid rejection or contract award for which bidders are not required to be prequalified by the Department to be eligible to bid, the bond shall be \$2,500. The required notice of protest, bond, and formal protest must each be timely filed with the Clerk of Agency Proceedings, Florida Department of Transportation, Mail Station 58, Room 550, 605 Suwannee Street, Tallahassee, Florida 32399-0458, FAX (850) 414-5264. Failure to file a protest within the time prescribed in Section 120.57(3), Florida Statutes, shall constitute a waiver of proceedings under Chapter 120, Florida Statutes.

A protest is not timely filed unless the notice of protest, bond, and the formal protest are each received by the Clerk of Agency Proceedings within the required time limits. A protest which is filed prematurely will be deemed abandoned unless timely renewed.

Unless otherwise prohibited by Florida Statute or Federal Regulation, in the event multiple responsive bidders submit identical proposals, the Department will determine the order in which Proposals are to be considered for Contract award in accordance with Rule 60A-1.011, Florida Administrative Code.

**EXHIBIT B Updated: 5/25/16
Emergency Response Traffic Signal Contract
Contract Number: Z7041
District-Wide Traffic Operations**

ITEM NUMBER	ITEM DESCRIPTION	UNITS	Quantity	UNIT PRICES	EXTENDED PRICE
102-76	ARROW BOARD / ADVANCE WARNING ARROW PANEL	ED	100	\$500.00	\$50,000.00
102-14	TRAFFIC CONTROL OFFICER	MH	50000	\$83.50	\$4,175,000.00
102-60	WORK ZONE SIGN	ED	1000	\$25.00	\$25,000.00
102-74-1	TEMPORARY BARRICADE-TYPES I,II,DI,VP DRUM, OR LCD	ED	5000	\$25.00	\$125,000.00
102-77	HIGH INENSITY FLASHING LIGHTS, TEMP, TYPE B	ED	100	\$25.00	\$2,500.00
102-99	PORTABLE CHANGEABLE MESSAGE SIGN, TEMPORARY	ED	200	\$500.00	\$100,000.00
630-2-11	CONDUIT (F&I) (OPEN TRENCH) (UNDERGROUND OR UNDER PAVEMENT)	LF	1000	\$24.50	\$24,500.00
630-2-12	CONDUIT (F&I) (DIRECTIONAL BORE)	LF	1000	\$30.00	\$30,000.00
630-2-14	CONDUIT (F&I)(ABOVE GROUND)	LF	100	\$45.50	\$4,550.00
630-2-15	CONDUIT (F&I)(BRIDGE MOUNTED)	LF	100	\$230.00	\$23,000.00
630-2-65	CONDUIT (REMOVE)	LF	100	\$7.50	\$750.00
632-7-1	SIGNAL CABLE (NEW OR RECONSTRUCTED INTERSECTION - FURNISH & INSTALL)	PI	200	\$9,000.00	\$1,800,000.00
632-7-2	SIGNAL CABLE (F&I) (REPAIR / REPLACE / OTHER)	LF	500000	\$6.00	\$3,000,000.00
632-7-4	SIGNAL CABLE (ADJUST)	PI	100	\$2,000.00	\$200,000.00
632-7-6	SIGNAL CABLE (REMOVE) (WITHIN INTERSECTION)	PI	200	\$3,000.00	\$600,000.00
632-7-7	SIGNAL CABLE (REMOVE) (OUTSIDE INTERSECTION)	LF	50000	\$5.00	\$250,000.00
633-1-111	FIBER OPTIC CABLE (F&I) (OVERHEAD) (2 TO 12 FIBERS)	LF	100	\$2.10	\$210.00
633-1-112	FIBER OPTIC CABLE (F&I) (OVERHEAD) (13 TO 48 FIBERS)	LF	100	\$2.50	\$250.00
633-1-113	FIBER OPTIC CABLE (F&I) (OVERHEAD) (49 TO 96 FIBERS)	LF	100	\$3.20	\$320.00
633-1-114	FIBER OPTIC CABLE (F&I) (OVERHEAD) (97 TO 144 FIBERS)	LF	10000	\$3.70	\$37,000.00
633-1-121	FIBER OPTIC CABLE (F&I) (UNDERGROUND) (2 TO 12 FIBERS)	LF	100	\$2.10	\$210.00
633-1-122	FIBER OPTIC CABLE (F&I) (UNDERGROUND) (13 TO 48 FIBERS)	LF	100	\$2.50	\$250.00
633-1-123	FIBER OPTIC CABLE (F&I) (UNDERGROUND) (49 TO 96 FIBERS)	LF	100	\$3.10	\$310.00
633-1-124	FIBER OPTIC CABLE (F&I) (UNDERGROUND) (97 TO 144 FIBERS)	LF	10000	\$3.60	\$36,000.00
633-1-310	FIBER OPTIC CABLE (INSTALL) (OVERHEAD)	LF	1000	\$1.60	\$1,600.00
633-1-320	FIBER OPTIC CABLE (INSTALL) (UNDERGROUND)	LF	1000	\$1.30	\$1,300.00
633-1-410	FIBER OPTIC CABLE (RELOCATE) (OVERHEAD)	LF	100	\$3.20	\$320.00
633-1-420	FIBER OPTIC CABLE (RELOCATE) (UNDERGROUND)	LF	100	\$1.90	\$190.00
633-1-610	FIBER OPTIC CABLE (REMOVE) (OVERHEAD)	LF	1000	\$1.30	\$1,300.00
633-1-620	FIBER OPTIC CABLE (REMOVE) (UNDERGROUND)	LF	1000	\$0.65	\$650.00
633-2-31	FIBER OPTIC CONNECTION (INSTALL) (SPlice)	EA	1000	\$45.00	\$45,000.00
633-2-32	FIBER OPTIC CONNECTION (INSTALL) (TERMINATION)	EA	1000	\$96.50	\$96,500.00
633-3-11	FIBER OPTIC CONNECTION HARDWARE (F&I) (SPlice ENCLOSURE)	EA	1000	\$870.00	\$870,000.00
633-3-12	FIBER OPTIC CONNECTION HARDWARE (F&I) (SPlice TRAY)	EA	1000	\$71.00	\$71,000.00
633-3-13	FIBER OPTIC CONNECTION HARDWARE (F&I) (PRETERMINATED CONNECTOR ASSEMBLY)	EA	1000	\$58.00	\$58,000.00
633-3-14	FIBER OPTIC CONNECTION HARDWARE (F&I) (BUFFER TUBE FAN OUT KIT)	EA	300	\$96.50	\$28,950.00
633-3-15	FIBER OPTIC CONNECTION HARDWARE (F&I) (PATCH PANEL, PRETERMINATED)	EA	300	\$1,500.00	\$450,000.00
633-3-16	FIBER OPTIC CONNECTION HARDWARE (F&I) (PATCH PANEL, FIELD TERMINATED)	EA	300	\$1,150.00	\$345,000.00
633-3-17	FIBER OPTIC CONNECTION HARDWARE (F&I) (CONNECTOR PANEL)	EA	300	\$115.00	\$34,500.00
633-3-31	FIBER OPTIC CONNECTION HARDWARE (INSTALL) (SPlice ENCLOSURE)	EA	300	\$400.00	\$120,000.00

**Highway Safety Devices, Inc.
6480 Harney Road
Tampa, FL 33610**

EXHIBIT B Updated: 5/25/16
Emergency Response Traffic Signal Contract
Contract Number: Z7041
District-Wide Traffic Operations

ITEM NUMBER	ITEM DESCRIPTION	UNITS	Quantity	UNIT PRICES	EXTENDED PRICE
633-3-32	FIBER OPTIC CONNECTION HARDWARE (INSTALL) (SPLICE TRAY)	EA	300	\$19.00	\$5,700.00
633-3-33	FIBER OPTIC CONNECTION HARDWARE (INSTALL) (PRETERMINATED CONNECTOR ASSEMBLY)	EA	300	\$30.00	\$9,000.00
633-3-34	FIBER OPTIC CONNECTION HARDWARE (INSTALL) (BUFFER TUBE FAN OUT KIT)	EA	300	\$60.00	\$18,000.00
633-3-35	FIBER OPTIC CONNECTION HARDWARE (INSTALL) (PATCH PANEL, PRETERMINATED)	EA	300	\$600.00	\$180,000.00
633-3-36	FIBER OPTIC CONNECTION HARDWARE (INSTALL) (PATCH PANEL, FIELD TERMINATED)	EA	300	\$320.00	\$96,000.00
633-3-37	FIBER OPTIC CONNECTION HARDWARE (INSTALL) (CONNECTOR PANEL)	EA	300	\$13.00	\$3,900.00
633-3-41	FIBER OPTIC CONNECTION HARDWARE (RELOCATE) (SPLICE ENCLOSURE)	EA	10	\$355.00	\$3,550.00
633-3-42	FIBER OPTIC CONNECTION HARDWARE (RELOCATE) (SPLICE TRAY)	EA	10	\$32.00	\$320.00
633-3-43	FIBER OPTIC CONNECTION HARDWARE (RELOCATE) (PRETERMINATED CONNECTOR ASSEMBLY)	EA	10	\$45.00	\$450.00
633-3-44	FIBER OPTIC CONNECTION HARDWARE (RELOCATE) (BUFFER TUBE FAN OUT KIT)	EA	10	\$83.50	\$835.00
633-3-45	FIBER OPTIC CONNECTION HARDWARE (RELOCATE) (PATCH PANEL, PRETERMINATED)	EA	10	\$545.00	\$5,450.00
633-3-46	FIBER OPTIC CONNECTION HARDWARE (RELOCATE) (PATCH PANEL, FIELD TERMINATED)	EA	10	\$510.00	\$5,100.00
633-3-47	FIBER OPTIC CONNECTION HARDWARE (RELOCATE) (CONNECTOR PANEL)	EA	10	\$32.00	\$320.00
633-3-51	FIBER OPTIC CONNECTION HARDWARE (ADJUST/MODIFY) (SPLICE ENCLOSURE)	EA	20	\$420.00	\$8,400.00
633-3-52	FIBER OPTIC CONNECTION HARDWARE (ADJUST/MODIFY) (SPLICE TRAY)	EA	20	\$13.00	\$260.00
633-3-53	FIBER OPTIC CONNECTION HARDWARE (ADJUST/MODIFY) (PRETERMINATED CONNECTOR ASSEMBLY)	EA	20	\$45.00	\$900.00
633-3-54	FIBER OPTIC CONNECTION HARDWARE (ADJUST/MODIFY) (BUFFER TUBE FAN OUT KIT)	EA	20	\$64.50	\$1,290.00
633-3-55	FIBER OPTIC CONNECTION HARDWARE (ADJUST/MODIFY) (PATCH PANEL, PRETERMINATED)	EA	20	\$545.00	\$10,900.00
633-3-56	FIBER OPTIC CONNECTION HARDWARE (ADJUST/MODIFY) (PATCH PANEL, FIELD TERMINATED)	EA	20	\$545.00	\$10,900.00
633-3-57	FIBER OPTIC CONNECTION HARDWARE (ADJUST/MODIFY) (CONNECTOR PANEL)	EA	20	\$32.00	\$640.00
633-4-1	TWISTED PAIR CABLE (F&I)	LF	10,000	\$3.90	\$39,000.00
633-4-3	TWISTED PAIR CABLE (INSTALL)	LF	100	\$1.90	\$190.00
633-4-4	TWISTED PAIR CABLE (RELOCATE)	LF	100	\$3.20	\$320.00
633-4-6	TWISTED PAIR CABLE (REMOVE)	LF	1000	\$0.65	\$650.00
633-8-1	MULTI-CONDUCTOR COMMUNICATION CABLE (F&I)	LF	10000	\$4.20	\$42,000.00
633-8-2	MULTI-CONDUCTOR COMMUNICATION CABLE (FURNISH)	LF	100	\$2.60	\$260.00
633-8-3	MULTI-CONDUCTOR COMMUNICATION CABLE (INSTALL)	LF	100	\$1.50	\$150.00
633-8-4	MULTI-CONDUCTOR COMMUNICATION CABLE (RELOCATE)	LF	100	\$1.90	\$190.00
633-8-5	MULTI-CONDUCTOR COMMUNICATION CABLE (ADJUST/MODIFY)	LF	100	\$1.90	\$190.00
633-8-6	MULTI-CONDUCTOR COMMUNICATION CABLE (REMOVE)	LF	1000	\$0.65	\$650.00
634-4-141	SPAN WIRE ASSEMBLY (F&I)(SINGLE POINT) (PERPENDICULAR)	PI	100	\$5,000.00	\$500,000.00
634-4-142	SPAN WIRE ASSEMBLY (F&I)(SINGLE POINT) (DIAGONAL)	PI	100	\$6,000.00	\$600,000.00

Highway Safety Devices, Inc.
6480 Harney Road
Tampa, FL 33610

EXHIBIT B Updated: 5/25/16
Emergency Response Traffic Signal Contract
Contract Number: Z7041
District-Wide Traffic Operations

ITEM NUMBER	ITEM DESCRIPTION	UNITS	Quantity	UNIT PRICES	EXTENDED PRICE
634-4-143	SPAN WIRE ASSEMBLY (F&I)(SINGLE POINT) (BOX OR DROP BOX)	PI	100	\$10,000.00	\$1,000,000.00
634-4-144	SPAN WIRE ASSEMBLY (F&I) (SINGLE POINT) (OTHER TYPE)	PI	100	\$6,000.00	\$600,000.00
634-4-151	SPAN WIRE ASSEMBLY (F&I) (TWO POINT) (PERPENDICULAR)	PI	100	\$7,000.00	\$700,000.00
634-4-152	SPAN WIRE ASSEMBLY (F&I) (TWO POINT) (DIAGONAL)	PI	100	\$6,000.00	\$600,000.00
634-4-153	SPAN WIRE ASSEMBLY (F&I) (TWO POINT) (BOX)	PI	100	\$11,000.00	\$1,100,000.00
634-4-154	SPAN WIRE ASSEMBLY (F&I) (TWO POINT) (OTHER TYPE)	PI	100	\$9,000.00	\$900,000.00
634-4-341	SPAN WIRE ASSEMBLY (INSTALL) (SINGLE POINT ATTACH) (PERPENDICULAR)	PI	50	\$2,000.00	\$100,000.00
634-4-342	SPAN WIRE ASSEMBLY (INSTALL) (SINGLE POINT ATTACH) (DIAGONAL)	PI	50	\$2,000.00	\$100,000.00
634-4-343	SPAN WIRE ASSEMBLY (INSTALL) (SINGLE POINT) (BOX SPANS)	PI	50	\$2,000.00	\$100,000.00
634-4-344	SPAN WIRE ASSEMBLY (INSTALL) (SINGLE POINT ATTACH) (OTHER SPAN TYPE)	PI	50	\$2,000.00	\$100,000.00
634-4-351	SPAN WIRE ASSEMBLY (INSTALL) (TWO POINT) (PERPENDICULAR)	PI	50	\$650.00	\$32,500.00
634-4-352	SPAN WIRE ASSEMBLY (INSTALL) (TWO POINT) (DIAGONAL)	PI	50	\$650.00	\$32,500.00
634-4-353	SPAN WIRE ASSEMBLY (INSTALL) (TWO POINT) (BOX SPANS)	PI	50	\$2,000.00	\$100,000.00
634-4-354	SPAN WIRE ASSEMBLY (INSTALL) (TWO POINT) (OTHER SPAN TYPE)	PI	50	\$2,000.00	\$100,000.00
634-4-400	SPAN WIRE ASSEMBLY (ADJUST)	PI	100	\$865.00	\$86,500.00
634-4-600	SPAN WIRE ASSEMBLY (REMOVE)	PI	100	\$360.00	\$36,000.00
634-5-1	FIBERGLASS INSULATOR (FURNISH & INSTALL)	LF	2000	\$16.00	\$32,000.00
634-6-1	MESSENGER WIRE (FURNISH & INSTALL)	LF	3000	\$7.60	\$22,800.00
635-2-11	PULL & SPLICE BOX (F&I) (17" X 30" COVER SIZE)	EA	200	\$675.00	\$135,000.00
635-2-12	PULL & SPLICE BOX (F&I) (24" X 36" COVER SIZE)	EA	10	\$1,150.00	\$11,500.00
635-2-13	PULL & SPLICE BOX (F&I) (36" X 60" COVER SIZE)	EA	10	\$2,200.00	\$22,000.00
635-2-30	PULL & SPLICE BOX (INSTALL)	EA	10	\$580.00	\$5,800.00
635-2-40	PULL & SPLICE BOX (RELOCATE)	EA	10	\$595.00	\$5,950.00
635-2-50	PULL & SPLICE BOX (REPAIR)	EA	10	\$385.00	\$3,850.00
635-3-11	JUNCTION BOX (F&I) (AERIAL)	EA	10	\$245.00	\$2,450.00
635-3-12	JUNCTION BOX (F&I) (MOUNTED)	EA	10	\$415.00	\$4,150.00
635-3-13	JUNCTION BOX (F&I) (EMBEDDED)	EA	10	\$235.00	\$2,350.00
635-3-30	JUNCTION BOX (INSTALL)	EA	10	\$190.00	\$1,900.00
635-3-40	JUNCTION BOX (RELOCATE)	EA	10	\$140.00	\$1,400.00
639-1-111	ELECTRICAL POWER SERVICE (F&I) (OVERHEAD) (METER FURNISHED BY POWER COMPANY)	AS	100	\$5,500.00	\$550,000.00
639-1-121	ELECTRICAL POWER SERVICE (F&I) (UNDERGROUND) (METER FURNISHED BY POWER COMPANY)	AS	20	\$5,500.00	\$110,000.00
639-1-410	ELECTRICAL POWER SERVICE (RELOCATE) (OVERHEAD)	AS	20	\$5,500.00	\$110,000.00
639-1-420	ELECTRICAL POWER SERVICE (RELOCATE) (UNDERGROUND)	AS	20	\$5,500.00	\$110,000.00
639-1-610	ELECTRICAL POWER SERVICE (REMOVE) (OVERHEAD)	AS	50	\$375.00	\$18,750.00
639-1-620	ELECTRICAL POWER SERVICE (REMOVE) (UNDERGROUND)	AS	20	\$2,000.00	\$40,000.00
639-2-1	ELECTRICAL SERVICE WIRE (F&I)	LF	1000	\$5.20	\$5,200.00
639-2-4	ELECTRICAL SERVICE WIRE (RELOCATE)	LF	1000	\$2.50	\$2,500.00
639-2-6	ELECTRICAL SERVICE WIRE (REMOVE)	LF	1000	\$1.30	\$1,300.00
639-3-11	ELECTRICAL SERVICE DISCONNECT(F&I) (POLE MOUNT)	EA	50	\$715.00	\$35,750.00
639-3-12	ELECTRICAL SERVICE DISCONNECT(F&I) (CABINET)	EA	50	\$595.00	\$29,750.00

Highway Safety Devices, Inc.
6480 Harney Road
Tampa, FL 33610

EXHIBIT B Updated: 5/25/16
Emergency Response Traffic Signal Contract
Contract Number: Z7041
District-Wide Traffic Operations

ITEM NUMBER	ITEM DESCRIPTION	UNITS	Quantity	UNIT PRICES	EXTENDED PRICE
639-3-60	ELECTRICAL SERVICE DISCONNECT (F&I) (REMOVE)	EA	50	\$46.50	\$2,325.00
639-3-61	ELECTRICAL SERVICE DISCONNECT (REMOVE) (POLE)	EA	50	\$140.00	\$7,000.00
639-3-62	ELECTRICAL SERVICE DISCONNECT (REMOVE) (CABINET)	EA	50	\$140.00	\$7,000.00
639-4-3	INSTALL FDOT EMERGENCY GENERATOR-PORTABLE (RETROFIT ALREADY IN PLACE)	EA	100	\$1,000.00	\$100,000.00
639-4-4	INSTALL FDOT EMERGENCY GENERATOR-PORTABLE AND RETROFIT (RETROFIT FURNISHED BY CONTRACTOR)	EA	100	\$5,000.00	\$500,000.00
639-4-5	EMERGENCY GENERATOR-PORTABLE, MONITOR AND	HR	100	\$500.00	\$50,000.00
641-2-11	PREST CONC POLE (F&I)(TYPE P-II PEDESTAL)	EA	100	\$1,500.00	\$150,000.00
641-2-12	PREST CONC POLE (F&I)(TYPE P-II SVC POLE)	EA	100	\$1,600.00	\$160,000.00
641-2-13	PREST CONC POLE (F&I)(TYPE P-III)	EA	100	\$3,000.00	\$300,000.00
641-2-14	PREST CONC POLE (F&I)(TYPE P-IV)	EA	100	\$4,400.00	\$440,000.00
641-2-15	PREST CONC POLE (F&I)(TYPE P-V)	EA	100	\$4,500.00	\$450,000.00
641-2-16	PREST CONC POLE (F&I)(TYPE P-VI)	EA	500	\$6,000.00	\$3,000,000.00
641-2-17	PREST CONC POLE (F&I)(TYPE P-VII)	EA	500	\$6,500.00	\$3,250,000.00
641-2-18	PREST CONC POLE (F&I)(TYPE P-VIII)	EA	500	\$7,000.00	\$3,500,000.00
641-2-19	PREST CONC POLE (F&I)(CUSTOM DESIGN)	EA	500	\$7,500.00	\$3,750,000.00
641-2-30	PREST CONC POLE (INSTALL)	EA	50	\$3,500.00	\$175,000.00
641-2-60	PREST CONC POLE (COMPLETE/DEEP REMOVAL-PEDESTAL SERVICE POLE)	EA	50	\$415.00	\$20,750.00
641-2-70	PREST CONC POLE (SHALLOW REMOVAL-POLES 30' AND GREATER)	EA	100	\$2,550.00	\$255,000.00
641-2-80	PREST CONC POLE (COMPLETE/DEEP REMOVAL-POLES 30' AND GREATER)	EA	50	\$4,350.00	\$217,500.00
643-1	STRAIN POLES (WOOD) (GUYING)	EA	100	\$335.00	\$33,500.00
643-130	STRAIN POLES WOOD(FURNISH & INSTALL)(30')	EA	1	\$905.00	\$905.00
643-140	STRAIN POLES WOOD(FURNISH & INSTALL)(40')	EA	10	\$975.00	\$9,750.00
643-150	STRAIN POLES WOOD(FURNISH & INSTALL)(50')	EA	100	\$1,300.00	\$130,000.00
643-400	STRAIN POLES WOOD (RELOCATE)	EA	50	\$720.00	\$36,000.00
643-600	STRAIN POLES WOOD (REMOVE)	EA	50	\$360.00	\$18,000.00
646-1-11	ALUMINUM SIGNALS POLE (F&I) (PEDESTAL)	EA	50	\$1,250.00	\$62,500.00
646-1-12	ALUMINUM SIGNALS POLE (F&I) (PEDESTRIAN DETECTOR POST)	EA	50	\$1,550.00	\$77,500.00
646-1-30	ALUMINUM SIGNALS POLE (INSTALL)	EA	50	\$475.00	\$23,750.00
646-1-40	ALUMINUM SIGNALS POLE (RELOCATE)	EA	50	\$370.00	\$18,500.00
646-1-60	ALUMINUM SIGNALS POLE (REMOVE)	EA	50	\$155.00	\$7,750.00
649-1-10	STEEL STRAIN POLE (F&I) (PEDESTAL)	EA	10	\$1,350.00	\$13,500.00
649-1-11	STEEL STRAIN POLE(F&I)(TYPE PS-IV)	EA	500	\$22,000.00	\$11,000,000.00
649-1-12	STEEL STRAIN POLE(F&I)(TYPE PS-V)	EA	500	\$23,000.00	\$11,500,000.00
649-1-13	STEEL STRAIN POLE(F&I)(TYPE PS-VI)	EA	500	\$23,500.00	\$11,750,000.00
649-1-14	STEEL STRAIN POLE(F&I)(TYPE PS-VII)	EA	500	\$25,000.00	\$12,500,000.00
649-1-15	STEEL STRAIN POLE(F&I)(TYPE PS-VIII)	EA	500	\$27,000.00	\$13,500,000.00
649-1-16	STEEL STRAIN POLE(F&I)(TYPE PS-IX)	EA	500	\$28,000.00	\$14,000,000.00
649-1-17	STEEL STRAIN POLE(F&I)(TYPE PS-X)	EA	500	\$30,000.00	\$15,000,000.00
649-1-30	STEEL STRAIN POLE (INSTALL)	EA	50	\$18,000.00	\$900,000.00
649-1-61	STEEL STRAIN POLE (COMPLETE REMOVAL) (PEDESTAL OR SERVICE POLE)	EA	100	\$1,900.00	\$190,000.00
649-1-62	STEEL STRAIN POLE (REMOVE) (PS POLE) (FOUNDATION REMAINS)	EA	100	\$415.00	\$41,500.00
649-1-63	STEEL STRAIN POLE (SHALLOW REMOVAL) (BOLT ON ATTACHMENT)	EA	100	\$1,300.00	\$130,000.00
649-1-65	STEEL STRAIN POLE (DEEP REMOVAL) (BOLT ON ATTACHMENT)	EA	100	\$3,700.00	\$370,000.00
649-31-201	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(36')	EA	10	\$25,900.00	\$259,000.00

EXHIBIT B Updated: 5/25/16
Emergency Response Traffic Signal Contract
Contract Number: Z7041
District-Wide Traffic Operations

ITEM NUMBER	ITEM DESCRIPTION	UNITS	Quantity	UNIT PRICES	EXTENDED PRICE
649-31-202	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(46')	EA	10	\$29,300.00	\$293,000.00
649-31-203	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(60')	EA	500	\$33,000.00	\$16,500,000.00
649-31-204	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(70.5')	EA	500	\$35,000.00	\$17,500,000.00
649-31-205	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(78')	EA	500	\$35,500.00	\$17,750,000.00
649-31-206	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/ LUM(36')	EA	10	\$28,500.00	\$285,000.00
649-31-207	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/ LUM(46')	EA	10	\$31,900.00	\$319,000.00
649-31-208	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/ LUM(60')	EA	500	\$36,000.00	\$18,000,000.00
649-31-209	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(70.5')	EA	500	\$37,500.00	\$18,750,000.00
649-31-210	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(36-36)	EA	10	\$32,800.00	\$328,000.00
649-31-211	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(36-46)	EA	10	\$35,500.00	\$355,000.00
649-31-212	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(36-60)	EA	500	\$41,800.00	\$20,900,000.00
649-31-213	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(36-70.5)	EA	500	\$45,100.00	\$22,550,000.00
649-31-214	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(46-46)	EA	10	\$39,200.00	\$392,000.00
649-31-215	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(46-60)	EA	500	\$43,000.00	\$21,500,000.00
649-31-216	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(46-70.5)	EA	500	\$46,700.00	\$23,350,000.00
649-31-217	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(60-60)	EA	500	\$47,600.00	\$23,800,000.00
649-31-218	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(60-70.5)	EA	500	\$47,800.00	\$23,900,000.00
649-31-219	M/ARM (F&I)(DOUBLE ARM W/O LUM(70.5-70.5)	EA	500	\$46,800.00	\$23,400,000.00
649-31-999	M/ARM (F&I) (CUSTOM WIND SPEED) (CUSTOM LENGTH)	EA	200	\$57,700.00	\$11,540,000.00
649-32-201	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(36')	EA	10	\$12,000.00	\$120,000.00
649-32-202	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(46')	EA	10	\$14,000.00	\$140,000.00
649-32-203	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(60')	EA	500	\$19,000.00	\$9,500,000.00
649-32-204	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(70.5')	EA	500	\$22,100.00	\$11,050,000.00
649-32-205	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(78')	EA	500	\$21,200.00	\$10,600,000.00
649-32-206	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/ LUM(36')	EA	10	\$13,000.00	\$130,000.00
649-32-207	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/ LUM(46')	EA	10	\$17,000.00	\$170,000.00
649-32-208	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/ LUM(60')	EA	500	\$21,400.00	\$10,700,000.00
649-32-209	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(70.5')	EA	500	\$22,900.00	\$11,450,000.00
649-32-210	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(36-36)	EA	10	\$18,000.00	\$180,000.00
649-32-211	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(36-46)	EA	10	\$20,000.00	\$200,000.00
649-32-212	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(36-60)	EA	500	\$26,500.00	\$13,250,000.00
649-32-213	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(36-70.5)	EA	500	\$29,900.00	\$14,950,000.00
649-32-214	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(46-46)	EA	10	\$24,200.00	\$242,000.00
649-32-215	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(46-60)	EA	500	\$27,800.00	\$13,900,000.00
649-32-216	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(46-70.5)	EA	500	\$32,000.00	\$16,000,000.00
649-32-217	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(60-60)	EA	500	\$32,300.00	\$16,150,000.00
649-32-218	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(60-70.5)	EA	500	\$33,100.00	\$16,550,000.00

EXHIBIT B Updated: 5/25/16
Emergency Response Traffic Signal Contract
Contract Number: Z7041
District-Wide Traffic Operations

ITEM NUMBER	ITEM DESCRIPTION	UNITS	Quantity	UNIT PRICES	EXTENDED PRICE
649-32-219	M/ARM (F&I)(DOUBLE ARM W/O LUM(70.5-70.5)	EA	500	\$32,100.00	\$16,050,000.00
649-33-000	STEEL MAST ARM (INSTALL)	EA	10	\$16,700.00	\$167,000.00
649-34-000	STEEL MAST ARM (RELOCATE)	EA	10	\$16,600.00	\$166,000.00
649-35-201	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(36')	EA	10	\$3,750.00	\$37,500.00
649-35-202	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(46')	EA	10	\$4,450.00	\$44,500.00
649-35-203	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(60')	EA	500	\$5,700.00	\$2,850,000.00
649-35-204	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(70.5')	EA	500	\$6,400.00	\$3,200,000.00
649-35-205	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(78')	EA	500	\$7,150.00	\$3,575,000.00
649-35-206	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/ LUM(36')	EA	10	\$4,450.00	\$44,500.00
649-35-207	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/ LUM(46')	EA	10	\$5,700.00	\$57,000.00
649-35-208	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/ LUM(60')	EA	500	\$7,050.00	\$3,525,000.00
649-35-209	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(70.5')	EA	500	\$7,750.00	\$3,875,000.00
649-35-210	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(36-36)	EA	10	\$10,600.00	\$106,000.00
649-35-211	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(36-46)	EA	10	\$10,700.00	\$107,000.00
649-35-212	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(36-60)	EA	500	\$13,700.00	\$6,850,000.00
649-35-213	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(36-70.5)	EA	500	\$14,400.00	\$7,200,000.00
649-35-214	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(46-46)	EA	10	\$12,700.00	\$127,000.00
649-35-215	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(46-60)	EA	500	\$14,000.00	\$7,000,000.00
649-35-216	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(46-70.5)	EA	500	\$15,400.00	\$7,700,000.00
649-35-217	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(60-60)	EA	500	\$16,700.00	\$8,350,000.00
649-35-218	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(60-70.5)	EA	500	\$17,400.00	\$8,700,000.00
649-35-219	M/ARM (F&I)(DOUBLE ARM W/O LUM(70.5-70.5)	EA	500	\$18,100.00	\$9,050,000.00
649-36-100	STEEL MAST ARM (REMOVE) (FOUNDATION REMAINS)	EA	100	\$415.00	\$41,500.00
649-36-300	STEEL MAST ARM (SHALLOW REMOVAL) (BOLT ON ATTACHMENT)	EA	100	\$1,750.00	\$175,000.00
649-36-500	STEEL MAST ARM (DEEP REMOVAL) (BOLT ON ATTACHMENT)	EA	100	\$3,300.00	\$330,000.00
649-36-700	MAST ARM (REMOVE ARM AND ATTACHMENTS - POLE REMAINS)	EA	100	\$210.00	\$21,000.00
649-38-000	STEEL MAST ARM (REPAIR)	EA	500	\$2,000.00	\$1,000,000.00
650-1-102	SIGNAL AUX (REPAIR/REPLACE/RETROFIT) (F&I) (BACKPLATE-BLACK WITH REFLECTIVE BORDER)	EA	1000	\$300.00	\$300,000.00
650-1-105	SIGNAL AUX (REPAIR/REPLACE/RETROFIT) (F&I) (TUNNEL VISOR)	EA	1000	\$150.00	\$150,000.00
650-1-106	SIGNAL AUX (REPAIR/REPLACE/RETROFIT) (F&I) (12' LED MODULE-STANDARD)	EA	5000	\$200.00	\$1,000,000.00
650-1-11	TRAFFIC SIGNAL (F&I) (ALUMINUM) (1 SECT, 1 WAY)	AS	10	\$1,000.00	\$10,000.00
650-1-12	TRAFFIC SIGNAL (F&I) (ALUMINUM) (1 SECT, 2-4 WAY)	AS	10	\$1,200.00	\$12,000.00
650-1-13	TRAFFIC SIGNAL (F&I) (ALUMINUM) (2 SECT, 1-2 WAY)	AS	10	\$1,250.00	\$12,500.00
650-1-14	TRAFFIC SIGNAL (F&I) (ALUMINUM) (3 SECT, 1 WAY)	AS	3000	\$1,500.00	\$4,500,000.00
650-1-15	TRAFFIC SIGNAL (F&I) (ALUMINUM) (3 SECT, 2-4 WAY)	AS	1000	\$1,550.00	\$1,550,000.00
650-1-16	TRAFFIC SIGNAL (F&I) (ALUMINUM) (4 SECT, 1 WAY)	AS	1000	\$1,600.00	\$1,600,000.00
650-1-17	TRAFFIC SIGNAL (F&I) (ALUMINUM) (4 SECT, 2-4 WAY)	AS	10	\$2,200.00	\$22,000.00
650-1-18	TRAFFIC SIGNAL (F&I) (ALUMINUM) (5 SECT, 1 WAY) (STRAIGHT)	AS	200	\$2,400.00	\$480,000.00

EXHIBIT B Updated: 5/25/16
Emergency Response Traffic Signal Contract
Contract Number: Z7041
District-Wide Traffic Operations

ITEM NUMBER	ITEM DESCRIPTION	UNITS	Quantity	UNIT PRICES	EXTENDED PRICE
650-1-19	TRAFFIC SIGNAL (F&I) (ALUMINUM) (5 SECT, 1 WAY) (CLUSTER)	AS	500	\$2,500.00	\$1,250,000.00
650-1-302	SIGNAL AUX (REPAIR/REPLACE/RETROFIT) (INSTALL) (BACKPLATE-BLACK WITH REFLECTIVE BORDER)	EA	1000	\$200.00	\$200,000.00
650-1-305	SIGNAL AUX (REPAIR/REPLACE/RETROFIT) (INSTALL) (TUNNEL VISOR)	EA	1000	\$200.00	\$200,000.00
650-1-306	SIGNAL AUX (REPAIR/REPLACE/RETROFIT) (INSTALL) (12" LED MODULE-STANDARD)	EA	1000	\$200.00	\$200,000.00
650-1-41	TRAFFIC SIGNAL (F&I) (PROGRAMMABLE) (1 SECT, 1 WAY)	AS	10	\$2,800.00	\$28,000.00
650-1-42	TRAFFIC SIGNAL (F&I) (PROGRAMMABLE) (1 SECT, 2-4 WAY)	AS	10	\$6,000.00	\$60,000.00
650-1-43	TRAFFIC SIGNAL (F&I) (PROGRAMMABLE) (2 SECT, 1-2 WAY)	AS	10	\$2,500.00	\$25,000.00
650-1-44	TRAFFIC SIGNAL (F&I) (PROGRAMMABLE) (3 SECT, 1 WAY)	AS	100	\$4,900.00	\$490,000.00
650-1-45	TRAFFIC SIGNAL (F&I) (PROGRAMMABLE) (3 SECT, 2-4 WAY)	AS	50	\$17,200.00	\$860,000.00
650-1-46	TRAFFIC SIGNAL (F&I) (PROGRAMMABLE) (4 SECT, 1 WAY)	AS	50	\$6,050.00	\$302,500.00
650-1-47	TRAFFIC SIGNAL (F&I) (PROGRAMMABLE) (4 SECT, 2-4 WAY)	AS	10	\$6,050.00	\$60,500.00
650-1-48	TRAFFIC SIGNAL (F&I) (PROGRAMMABLE) (5 SECT, 1 WAY) (STRAIGHT)	AS	20	\$7,150.00	\$143,000.00
650-1-49	TRAFFIC SIGNAL (F&I) (PROGRAMMABLE) (5 SECT, 1 WAY) (CLUSTER)	AS	20	\$7,150.00	\$143,000.00
650-1-50	TRAFFIC SIGNAL (INSTALL)	AS	1000	\$750.00	\$750,000.00
650-1-60	TRAFFIC SIGNAL (REMOVE)	AS	10000	\$250.00	\$2,500,000.00
650-1-70	TRAFFIC SIGNAL (RELOCATE)	AS	10	\$1,000.00	\$10,000.00
653-1-11	PEDESTRIAN SIGNAL (F&I) (LED COUNTDOWN) (1 WAY)	AS	5000	\$700.00	\$3,500,000.00
653-1-12	PEDESTRIAN SIGNAL (F&I) (LED COUNTDOWN) (2 WAY)	AS	5000	\$1,000.00	\$5,000,000.00
653-1-30	PEDESTRIAN SIGNAL (INSTALL)	AS	1000	\$200.00	\$200,000.00
653-1-40	PEDESTRIAN SIGNAL (RELOCATE)	AS	100	\$300.00	\$30,000.00
653-1-60	PEDESTRIAN SIGNAL (REMOVE) (POLE TO REMAIN)	AS	1000	\$150.00	\$150,000.00
654-2-11	RECTANGULAR RAPID FLASHING BEACON (F&I) (AC POWERED) (COMPLETE ASSEMBLY) (SINGLE DIRECTION)	AS	10	\$6,000.00	\$60,000.00
654-2-12	RECTANGULAR RAPID FLASHING BEACON (F&I) (AC POWERED) (COMPLETE ASSEMBLY) (BACK TO BACK)	AS	10	\$6,600.00	\$66,000.00
654-2-14	RECTANGULAR RAPID FLASHING BEACON (F&I) (AC POWERED) (SIGNS AND RRFB UNIT)	EA	10	\$1,400.00	\$14,000.00
654-2-21	RECTANGULAR RAPID FLASHING BEACON (F&I) (SOLAR) (COMPLETE ASSEMBLY) (SINGLE DIRECTION)	AS	100	\$6,450.00	\$645,000.00
654-2-22	RECTANGULAR RAPID FLASHING BEACON (F&I) (SOLAR) (COMPLETE ASSEMBLY) (BACK TO BACK)	AS	100	\$7,100.00	\$710,000.00
654-2-24	RECTANGULAR RAPID FLASHING BEACON (F&I) (SOLAR) (SIGNS AND RRFB UNIT)	EA	100	\$6,450.00	\$645,000.00
654-2-30	RECTANGULAR RAPID FLASHING BEACON (INSTALL)	AS	10	\$1,700.00	\$17,000.00
654-2-40	RECTANGULAR RAPID FLASHING BEACON (RELOCATE)	AS	10	\$2,000.00	\$20,000.00
654-2-50	RECTANGULAR RAPID FLASHING BEACON (ADJUST/MODIFY)	AS	10	\$640.00	\$6,400.00
654-2-60	RECTANGULAR RAPID FLASHING BEACON (REMOVE)	AS	10	\$295.00	\$2,950.00
654-3-10	PEDESTRIAN HYBRID BEACON ASSEMBLY (F&I) (COMPLETE ASSEMBLY)	AS	10	\$1,250.00	\$12,500.00
654-3-30	PEDESTRIAN HYBRID BEACON ASSEMBLY (INSTALL)	AS	10	\$295.00	\$2,950.00
654-3-50	PEDESTRIAN HYBRID BEACON ASSEMBLY (ADJUST/ MODIFY)	AS	10	\$295.00	\$2,950.00
654-3-60	PEDESTRIAN HYBRID BEACON ASSEMBLY (REMOVE)	AS	10	\$200.00	\$2,000.00

Highway Safety Devices, Inc.
6480 Harney Road
Tampa, FL 33610

EXHIBIT B Updated: 5/25/16
Emergency Response Traffic Signal Contract
Contract Number: Z7041
District-Wide Traffic Operations

ITEM NUMBER	ITEM DESCRIPTION	UNITS	Quantity	UNIT PRICES	EXTENDED PRICE
659-1-110	MAST ARM, SPAN WIRE, AND POLE MOUNTING ASSEMBLIES (REPAIR/REPLACE/RETROFIT) (F&I) (MAST ARM HANGER)	EA	10	\$250.00	\$2,500.00
659-1-120	MAST ARM, SPAN WIRE, AND POLE MOUNTING ASSEMBLIES (REPAIR/REPLACE/RETROFIT) (F&I) (SPAN WIRE HANGER)	EA	10	\$1,000.00	\$10,000.00
659-1-310	MAST ARM, SPAN WIRE AND POLE MOUNTING ASSEMBLIES (REPAIR/REPLACE/RETROFIT) (INSTALL) (MAST ARM HANGER)	EA	10	\$500.00	\$5,000.00
659-1-320	MAST ARM, SPAN WIRE AND POLE MOUNTING ASSEMBLIES	EA	10	\$250.00	\$2,500.00
660-1-101	LOOP DET. INDUCT. (F&I)(TYPE 1, 1 CHAN., RELAY OUTPUT, SHELF MOUNTED)	EA	1000	\$250.00	\$250,000.00
660-1-102	LOOP DET. INDUCT. (F&I)(TYPE 2, 1 CHAN., RELAY OUTPUT, SHELF MOUNTED, TIME DELAY)	EA	1000	\$250.00	\$250,000.00
660-1-103	LOOP DET. INDUCT. (F&I)(TYPE 3, 1 CHAN., SOLID STATE, SHELF MOUNTED, TIME DELAY)	EA	1	\$250.00	\$250.00
660-1-104	LOOP DET. INDUCT. (F&I)(TYPE 4, 1 CHAN., SOLID STATE, SHELF MOUNTED, TIME DELAY)	EA	1000	\$250.00	\$250,000.00
660-1-105	LOOP DET. INDUCT. (F&I)(TYPE 5, 2 CHAN., SOID STATE, SHELF MOUNTED)	EA	1	\$600.00	\$600.00
660-1-106	LOOP DET. INDUCT. (F&I)(TYPE 6, 2 CHAN., SOLID STATE, SHELF MOUNTED, TIME DELAY)	EA	1	\$600.00	\$600.00
660-1-107	LOOP DET. INDUCT. (F&I)(TYPE 7, 4 CHAN., SOLID STATE, SHELF MOUNTED)	EA	1	\$400.00	\$400.00
660-1-108	LOOP DET. INDUCT. (F&I)(TYPE 8, 4 CHAN., SOLID STATE, SHELF MOUNTED, TIME DELAY)	EA	1000	\$600.00	\$600,000.00
660-1-109	LOOP DET. INDUCT. (F&I)(TYPE 9, 2 CHAN., SOLID STATE, RACK MOUNTED)	EA	1	\$300.00	\$300.00
660-1-110	LOOP DET. INDUCT. (F&I)(TYPE 10, 2 CHAN., SOLID STATE, RACK MOUNTED, TIME DELAY)	EA	1	\$400.00	\$400.00
660-1-111	LOOP DET. INDUCT. (F&I)(TYPE 11, 4 CHAN., SOLID STATE, RACK MOUNTED)	EA	1	\$500.00	\$500.00
660-1-112	LOOP DET. INDUCT. (F&I)(TYPE 12, 4 CHAN., SOLID STATE, RACK MOUNTED, TIME DELAY)	EA	1	\$600.00	\$600.00
660-1-300	LOOP DET. INDUCT. (INSTALL)	EA	100	\$150.00	\$15,000.00
660-1-400	LOOP DET. INDUCT. (RELOCATE)	EA	1	\$150.00	\$150.00
660-1-600	LOOP DET. INDUCT. (REMOVE)	EA	1	\$150.00	\$150.00
660-2-101	LOOP ASSEMBLY (F&I) (TYPE A)	AS	1000	\$1,000.00	\$1,000,000.00
660-2-102	LOOP ASSEMBLY (F&I) (TYPE B)	AS	1000	\$1,000.00	\$1,000,000.00
660-2-103	LOOP ASSEMBLY (F&I) (TYPE C)	AS	1	\$1,500.00	\$1,500.00
660-2-104	LOOP ASSEMBLY (F&I) (TYPE D)	AS	1	\$1,500.00	\$1,500.00
660-2-105	LOOP ASSEMBLY (F&I) (TYPE E)	AS	1	\$1,500.00	\$1,500.00
660-2-106	LOOP ASSEMBLY (F&I) (TYPE F)	AS	1000	\$1,100.00	\$1,100,000.00
660-2-107	LOOP ASSEMBLY (F&I) (TYPE G)	AS	1	\$1,500.00	\$1,500.00
660-2-108	LOOP ASSEMBLY (F&I) (TYPE H)	AS	1	\$1,500.00	\$1,500.00
660-3-11	VEHICLE DETECTION SYSTEM - MICROWAVE (F&I) (CABINET EQUIPMENT)	EA	10	\$1,600.00	\$16,000.00
660-3-12	VEHICLE DETECTION SYSTEM - MICROWAVE (F&I) (ABOVE GROUND EQUIPMENT)	EA	10	\$6,800.00	\$68,000.00
660-3-31	VEHICLE DETECTION SYSTEM - MICROWAVE (INSTALL) (CABINET EQUIPMENT)	EA	10	\$730.00	\$7,300.00
660-3-32	VEHICLE DETECTION SYSTEM - MICROWAVE (INSTALL) (ABOVE GROUND EQUIPMENT)	EA	10	\$1,500.00	\$15,000.00
660-3-40	VEHICLE DETECTION SYSTEM - MICROWAVE (RELOCATE) (COMPLETE SYSTEM)	EA	10	\$375.00	\$3,750.00

EXHIBIT B Updated: 5/25/16
Emergency Response Traffic Signal Contract
Contract Number: Z7041
District-Wide Traffic Operations

ITEM NUMBER	ITEM DESCRIPTION	UNITS	Quantity	UNIT PRICES	EXTENDED PRICE
660-3-41	VEHICLE DETECTION SYSTEM - MICROWAVE (RELOCATE) (CABINET EQUIPMENT)	EA	10	\$375.00	\$3,750.00
660-3-42	VEHICLE DETECTION SYSTEM - MICROWAVE (RELOCATE) (ABOVE GROUND EQUIPMENT)	EA	10	\$1,450.00	\$14,500.00
660-3-50	VEHICLE DETECTION SYSTEM - MICROWAVE (ADJUST/MODIFY) (COMPLETE SYSTEM)	EA	10	\$1,500.00	\$15,000.00
660-3-51	VEHICLE DETECTION SYSTEM - MICROWAVE (ADJUST/MODIFY) (CABINET EQUIPMENT)	EA	10	\$160.00	\$1,600.00
660-3-52	VEHICLE DETECTION SYSTEM - MICROWAVE (ADJUST/MODIFY) (ABOVE GROUND EQUIPMENT)	EA	10	\$945.00	\$9,450.00
660-3-60	VEHICLE DETECTION SYSTEM - MICROWAVE (REMOVE) (COMPLETE SYSTEM)	EA	10	\$1,500.00	\$15,000.00
660-3-80	VEHICLE DETECTION SYSTEM - MICROWAVE (PREVENTATIVE MAINTENANCE) (COMPLETE SYSTEM)	EA	10	\$800.00	\$8,000.00
660-3-90	VEHICLE DETECTION SYSTEM - MICROWAVE (DIAGNOSIS AND MISCELLANEOUS REPAIR) (COMPLETE SYSTEM)	EA	10	\$800.00	\$8,000.00
660-4-10	VEHICLE DETECTION SYSTEM - VIDEO (F&I) (COMPLETE SYSTEM)	EA	1000	\$20,000.00	\$20,000,000.00
660-4-11	VEHICLE DETECTION SYSTEM - VIDEO (F&I) (CABINET EQUIPMENT)	EA	1000	\$4,450.00	\$4,450,000.00
660-4-12	VEHICLE DETECTION SYSTEM - VIDEO (F&I) (ABOVE GROUND EQUIPMENT)	EA	100	\$2,800.00	\$280,000.00
660-4-30	VEHICLE DETECTION SYSTEM - VIDEO (INSTALL) (COMPLETE SYSTEM)	EA	100	\$2,000.00	\$200,000.00
660-4-31	VEHICLE DETECTION SYSTEM - VIDEO (INSTALL) (CABINET EQUIPMENT)	EA	100	\$120.00	\$12,000.00
660-4-32	VEHICLE DETECTION SYSTEM - VIDEO (INSTALL) (ABOVE GROUND EQUIPMENT)	EA	100	\$490.00	\$49,000.00
660-4-40	VEHICLE DETECTION SYSTEM - VIDEO (RELOCATE) (COMPLETE SYSTEM)	EA	10	\$2,750.00	\$27,500.00
660-4-41	VEHICLE DETECTION SYSTEM - VIDEO (RELOCATE) (CABINET EQUIPMENT)	EA	10	\$185.00	\$1,850.00
660-4-42	VEHICLE DETECTION SYSTEM - VIDEO (RELOCATE) (ABOVE GROUND EQUIPMENT)	EA	10	\$740.00	\$7,400.00
660-4-50	VEHICLE DETECTION SYSTEM - VIDEO (ADJUST/MODIFY) (COMPLETE SYSTEM)	EA	10	\$735.00	\$7,350.00
660-4-51	VEHICLE DETECTION SYSTEM - VIDEO (ADJUST/MODIFY) (CABINET EQUIPMENT)	EA	10	\$185.00	\$1,850.00
660-4-52	VEHICLE DETECTION SYSTEM - VIDEO (ADJUST/MODIFY) (ABOVE GROUND EQUIPMENT)	EA	10	\$305.00	\$3,050.00
660-4-60	VEHICLE DETECTION SYSTEM - VIDEO (REMOVE) (COMPLETE SYSTEM)	EA	10	\$365.00	\$3,650.00
660-4-80	VEHICLE DETECTION SYSTEM - VIDEO (PREVENTATIVE MAINTENANCE) (COMPLETE SYSTEM)	EA	10	\$305.00	\$3,050.00
660-4-90	VEHICLE DETECTION SYSTEM - VIDEO (DIAGNOSIS AND MISCELLANEOUS REPAIR) (COMPLETE SYSTEM)	EA	10	\$305.00	\$3,050.00
660-6-111	VEHICLE DETECTION SYSTEM - AVI (F&I) (TRANSPONDER) (CABINET EQUIPMENT)	EA	10	\$5,800.00	\$58,000.00
660-6-112	VEHICLE DETECTION SYSTEM - AVI (F&I) (TRANSPONDER) (ABOVE GROUND EQUIPMENT)	EA	10	\$10,900.00	\$109,000.00
660-6-121	VEHICLE DETECTION SYSTEM - AVI (F&I) (BLUETOOTH) (CABINET EQUIPMENT)	EA	10	\$5,250.00	\$52,500.00
660-6-122	VEHICLE DETECTION SYSTEM - AVI (F&I) (BLUETOOTH) (ABOVE GROUND EQUIPMENT)	EA	10	\$1,600.00	\$16,000.00

EXHIBIT B Updated: 5/25/16
Emergency Response Traffic Signal Contract
Contract Number: Z7041
District-Wide Traffic Operations

ITEM NUMBER	ITEM DESCRIPTION	UNITS	Quantity	UNIT PRICES	EXTENDED PRICE
663-1-110	SIGNAL PRIORITY AND PREEMPTION SYSTEM (F&I) (OPTICAL) (COMPLETE SYSTEM)	EA	10	\$11,500.00	\$115,000.00
663-1-120	SIGNAL PRIORITY AND PREEMPTION SYSTEM (F&I) (GPS) (COMPLETE SYSTEM)	EA	10	\$13,900.00	\$139,000.00
663-1-130	SIGNAL PRIORITY AND PREEMPTION SYSTEM (F&I) (RADIO FREQUENCY)	EA	10	\$21,900.00	\$219,000.00
663-1-310	SIGNAL PRIORITY AND PREEMPTION SYSTEM (INSTALL) (OPTICAL) (COMPLETE SYSTEM)	EA	1	\$800.00	\$800.00
663-1-311	SIGNAL PRIORITY AND PREEMPTION SYSTEM (INSTALL) (OPTICAL) (CABINET ELECTRONICS)	EA	1	\$250.00	\$250.00
663-1-312	SIGNAL PRIORITY AND PREEMPTION SYSTEM (INSTALL) (OPTICAL) (DETECTOR)	EA	1	\$555.00	\$555.00
663-1-320	SIGNAL PRIORITY AND PREEMPTION SYSTEM (INSTALL) (GPS) (COMPLETE SYSTEM)	EA	1	\$735.00	\$735.00
663-1-321	SIGNAL PRIORITY AND PREEMPTION SYSTEM (INSTALL) (GPS) (CABINET ELECTRONICS)	EA	1	\$250.00	\$250.00
663-1-322	SIGNAL PRIORITY AND PREEMPTION SYSTEM (INSTALL) (GPS) (DETECTOR)	EA	1	\$375.00	\$375.00
663-1-330	SIGNAL PRIORITY AND PREEMPTION SYSTEM (INSTALL) (RADIO FREQUENCY) (COMPLETE SYSTEM)	EA	1	\$1,550.00	\$1,550.00
663-1-331	SIGNAL PRIORITY AND PREEMPTION SYSTEM (INSTALL) (RADIO FREQUENCY) (CABINET ELECTRONICS)	EA	1	\$185.00	\$185.00
663-1-332	SIGNAL PRIORITY AND PREEMPTION SYSTEM (INSTALL) (RADIO FREQUENCY) (DETECTOR)	EA	1	\$555.00	\$555.00
663-1-400	SIGNAL PRIORITY AND PREEMPTION SYSTEM (RELOCATE)	EA	1	\$555.00	\$555.00
663-1-500	SIGNAL PRIORITY AND PREEMPTION SYSTEM (ADJUST/MODIFY)	EA	10	\$305.00	\$3,050.00
663-1-600	SIGNAL PRIORITY AND PREEMPTION SYSTEM (REMOVE)	EA	10	\$305.00	\$3,050.00
665-1-11	PEDESTRIAN DETECTOR (F&I) (STANDARD)	EA	100	\$110.00	\$11,000.00
665-1-12	PEDESTRIAN DETECTOR (F&I) (ASSCESSIBLE)	EA	10	\$1,150.00	\$11,500.00
665-1-30	PEDESTRIAN DETECTOR (INSTALL)	EA	100	\$155.00	\$15,500.00
665-1-40	PEDESTRIAN DETECTOR (RELOCATE)	EA	1	\$235.00	\$235.00
665-1-50	PEDESTRIAN DETECTOR (ADJUST/MODIFY)	EA	1	\$52.00	\$52.00
665-1-60	PEDESTRIAN DETECTOR (REMOVE-POLE/PEDESTAL TO REMAIN)	EA	1	\$52.00	\$52.00
670-4-1	INTERSECTION CONTROL BEACON CONTROLLER ASSEMBLY (F&I)	AS	10	\$905.00	\$9,050.00
670-5-110	TRAFFIC CONTROLLER ASSEMBLY (F&I) (NEMA) (NONE)	AS	100	\$21,500.00	\$2,150,000.00
670-5-112	TRAFFIC CONTROLLER ASSEMBLY (F&I) (NEMA) (2 PREEMPTION)	AS	100	\$21,400.00	\$2,140,000.00
670-5-142	TRAFFIC CONTROLLER ASSEMBLY (F&I) (2070) (2 PREEMPTION)	AS	100	\$21,500.00	\$2,150,000.00
670-5-152	TRAFFIC CONTROLLER ASSEMBLY (F&I) (ATC) (2 PREEMPTION)	AS	100	\$22,200.00	\$2,220,000.00
670-5-300	TRAFFIC CONTROLLER ASSEMBLY (INSTALL)	AS	10	\$1,700.00	\$17,000.00
670-5-400	TRAFFIC CONTROLLER ASSEMBLY (MODIFY)	AS	10	\$2,350.00	\$23,500.00
670-5-600	TRAFFIC CONTROLLER ASSEMBLY (REMOVE)	AS	100	\$470.00	\$47,000.00
671-2-11	TRAFFIC CONTROLLER (F&I) (NEMA)	EA	100	\$3,550.00	\$355,000.00
671-2-13	TRAFFIC CONTROLLER (F&I) (2070)	EA	100	\$3,550.00	\$355,000.00
671-2-30	TRAFFIC CONTROLLER (INSTALL)	EA	10	\$155.00	\$1,550.00
671-2-40	TRAFFIC CONTROLLER (MODIFY)	EA	10	\$155.00	\$1,550.00
671-2-50	TRAFFIC CONTROLLER (RELOCATE)	EA	10	\$235.00	\$2,350.00
676-1-114	TRAFFIC SIGNAL CONTROLLER CABINET (F&I) (WIRED) (NEMA, TYPE 4, 24"W X 46"H X 16"D)	EA	100	\$13,900.00	\$1,390,000.00

EXHIBIT 3 Updated: 5/25/16
Emergency Response Traffic Signal Contract
Contract Number: Z7041
District-Wide Traffic Operations

ITEM NUMBER	ITEM DESCRIPTION	UNITS	Quantity	UNIT PRICES	EXTENDED PRICE
676-1-117	TRAFFIC SIGNAL CONTROLLER CABINET (F&I) (WIRED) (NEMA, TYPE 7, 44"W X 72"H X 24"D)	EA	100	\$20,400.00	\$2,040,000.00
676-1-300	TRAFFIC SIGNAL CONTROLLER CABINET (INSTALL)	EA	10	\$965.00	\$9,650.00
676-1-400	TRAFFIC SIGNAL CONTROLLER CABINET (RELOCATE)	EA	10	\$1,100.00	\$11,000.00
676-1-500	TRAFFIC SIGNAL CONTROLLER CABINET (ADJUST / MODIFY)	EA	100	\$260.00	\$26,000.00
676-1-600	TRAFFIC SIGNAL CONTROLLER CABINET (REMOVE)	EA	100	\$470.00	\$47,000.00
676-2-111	ITS CABINET (F&I) (POLE MOUNT) (336, 24"W X 36"H X 20"D)	EA	10	\$8,100.00	\$81,000.00
676-3-10	SMALL EQUIPMENT ENCLOSURE (F&I)	EA	10	\$2,450.00	\$24,500.00
678-1-104	CONTROLLER ACCESSORIES (F&I) (LOAD SWITCH)	EA	100	\$67.00	\$6,700.00
678-1-110	CONTROLLER ACCESSORIES (F&I) (TYPE 4, TIME SWITCH)	EA	100	\$795.00	\$79,500.00
678-1-112	CONTROLLER ACCESSORIES (F&I) (MASTER CLOCK UNIT)	EA	100	\$450.00	\$45,000.00
680-1-110	SYSTEM CONTROL EQUIPMENT (F&I) (ADAPTIVE SIGNAL CONTROL SYSTEM) (NEMA) (COMPLETE SYSTEM)	EA	100	\$30,600.00	\$3,060,000.00
680-1-111	SYSTEM CONTROL EQUIPMENT (F&I) (ADAPTIVE SIGNAL CONTROL SYSTEM) (NEMA) (CABINET EQUIPMENT)	EA	100	\$18,500.00	\$1,850,000.00
680-1-112	SYSTEM CONTROL EQUIPMENT (F&I) (ADAPTIVE SIGNAL CONTROL SYSTEM) (NEMA) (ABOVE GROUND EQUIPMENT)	EA	100	\$4,150.00	\$415,000.00
680-1-300	SYSTEM CONTROL EQUIPMENT (INSTALL)	EA	10	\$2,100.00	\$21,000.00
680-1-400	SYSTEM CONTROL EQUIPMENT (RELOCATE)	EA	10	\$4,000.00	\$40,000.00
680-1-500	SYSTEM CONTROL EQUIPMENT (ADJUST / MODIFY)	EA	10	\$1,150.00	\$11,500.00
680-1-600	SYSTEM CONTROL EQUIPMENT (REMOVE)	EA	10	\$945.00	\$9,450.00
680-1-900	SYSTEM CONTROL EQUIPMENT (DIAGNOSTIC AND MISC REPAIR)	EA	10	\$3,000.00	\$30,000.00
682-1-11	CCTV CAMERA (F&I) (DOME ENCLOSURE, PRESSURIZED)	EA	10	\$7,850.00	\$78,500.00
682-1-12	CCTV CAMERA (F&I) (EXTERNAL ENCLOSURE, PRESSURIZED)	EA	10	\$6,250.00	\$62,500.00
682-1-13	CCTV CAMERA (F&I) (DOME ENCLOSURE, NON-PRESSURIZED)	EA	10	\$4,950.00	\$49,500.00
682-1-14	CCTV CAMERA (F&I) (EXTERNAL ENCLOSURE, NON- PRESSURIZED)	EA	10	\$6,250.00	\$62,500.00
682-1-50	CCTV CAMERA (ADJUST/MODIFY)	EA	10	\$1,100.00	\$11,000.00
682-1-70	CCTV CAMERA (REMOVE AND STOCKPILE)	EA	10	\$180.00	\$1,800.00
685-106	SYSTEM AUX. (UNINTERRUPTIBLE POWER SOURCE)(UPS)	EA	300	\$7,000.00	\$2,100,000.00
700-3501	SIGN PANEL, RELOCATE, UP TO 12 SF	EA	1000	\$260.00	\$260,000.00
700-3502	SIGN PANEL, RELOCATE, 12-20 SF	EA	1000	\$365.00	\$365,000.00
700-3601	SIGN PANEL, REMOVE, UP TO 12 SF	EA	1000	\$14.00	\$14,000.00
700-3602	SIGN PANEL, REMOVE, 12-20 SF	EA	1000	\$14.00	\$14,000.00
700-5-21	INTERNALLY ILLUMINATED ST. SIGN F&I UP TO 12 SF	EA	500	\$3,800.00	\$1,900,000.00
700-5-22	INTERNALLY ILLUMINATED ST. SIGN F&I 12 - 18 SF	EA	500	\$4,100.00	\$2,050,000.00
700-5-60	INTERNALLY ILLUMINATED ST. SIGN REMOVE	EA	500	\$185.00	\$92,500.00
				Total Bid	\$710,222,454.00

Highway Safety Devices, Inc.
6480 Harney Road
Tampa, FL 33610

EXHIBIT B Updated: 5/25/16
Emergency Response Traffic Signal Contract
Contract Number: Z7041
District-Wide Traffic Operations

ITEM NUMBER	ITEM DESCRIPTION	UNITS	Quantity	UNIT PRICES	EXTENDED PRICE
102-76	ARROW BOARD / ADVANCE WARNING ARROW PANEL	ED	100	\$20.00	\$2,000.00
102-14	TRAFFIC CONTROL OFFICER	MH	50000	\$80.00	\$4,000,000.00
102-60	WORK ZONE SIGN	ED	1000	\$1.00	\$1,000.00
102-74-1	TEMPORARY BARRICADE TYPES I,II,D, VP DRUM, OR LCD	ED	5000	\$1.00	\$5,000.00
102-77	HIGH INENSITY FLASHING LIGHTS, TEMP. TYPE B	ED	100	\$2.00	\$200.00
102-99	PORTABLE CHANGEABLE MESSAGE SIGN, TEMPORARY	ED	200	\$30.00	\$6,000.00
630-2-11	CONDUIT (F&I) (OPEN TRENCH) (UNDERGROUND OR UNDER PAVEMENT)	LF	1000	\$11.00	\$11,000.00
630-2-12	CONDUIT (F&I) (DIRECTIONAL BORE)	LF	1000	\$16.00	\$16,000.00
630-2-14	CONDUIT (F&I)(ABOVE GROUND)	LF	100	\$20.00	\$2,000.00
630-2-15	CONDUIT (F&I)(BRIDGE MOUNTED)	LF	100	\$120.00	\$12,000.00
630-2-65	CONDUIT (REMOVE)	LF	100	\$5.00	\$500.00
632-7-1	SIGNAL CABLE (NEW OR RECONSTRUCTED INTERSECTION - FURNISH & INSTALL)	PI	200	\$8,000.00	\$1,600,000.00
632-7-2	SIGNAL CABLE (F&I) (REPAIR / REPLACE / OTHER)	LF	500000	\$10.00	\$5,000,000.00
632-7-4	SIGNAL CABLE (ADJUST)	PI	100	\$500.00	\$50,000.00
632-7-6	SIGNAL CABLE (REMOVE) (WITHIN INTERSECTION)	PI	200	\$600.00	\$120,000.00
632-7-7	SIGNAL CABLE (REMOVE) (OUTSIDE INTERSECTION)	LF	50000	\$1.00	\$50,000.00
633-1-111	FIBER OPTIC CABLE (F&I) (OVERHEAD) (2 TO 12 FIBERS)	LF	100	\$1.85	\$185.00
633-1-112	FIBER OPTIC CABLE (F&I) (OVERHEAD) (13 TO 48 FIBERS)	LF	100	\$2.20	\$220.00
633-1-113	FIBER OPTIC CABLE (F&I) (OVERHEAD) (49 TO 96 FIBERS)	LF	100	\$3.00	\$300.00
633-1-114	FIBER OPTIC CABLE (F&I) (OVERHEAD) (97 TO 144 FIBERS)	LF	10000	\$3.25	\$32,500.00
633-1-121	FIBER OPTIC CABLE (F&I) (UNDERGROUND) (2 TO 12 FIBERS)	LF	100	\$1.80	\$180.00
633-1-122	FIBER OPTIC CABLE (F&I) (UNDERGROUND) (13 TO 48 FIBERS)	LF	100	\$2.00	\$200.00
633-1-123	FIBER OPTIC CABLE (F&I) (UNDERGROUND) (49 TO 96 FIBERS)	LF	100	\$2.65	\$265.00
633-1-124	FIBER OPTIC CABLE (F&I) (UNDERGROUND) (97 TO 144 FIBERS)	LF	10000	\$3.00	\$30,000.00
633-1-310	FIBER OPTIC CABLE (INSTALL) (OVERHEAD)	LF	1000	\$1.40	\$1,400.00
633-1-320	FIBER OPTIC CABLE (INSTALL) (UNDERGROUND)	LF	1000	\$1.10	\$1,100.00
633-1-410	FIBER OPTIC CABLE (RELOCATE) (OVERHEAD)	LF	100	\$3.00	\$300.00
633-1-420	FIBER OPTIC CABLE (RELOCATE) (UNDERGROUND)	LF	100	\$2.00	\$200.00
633-1-610	FIBER OPTIC CABLE (REMOVE) (OVERHEAD)	LF	1000	\$1.15	\$1,150.00
633-1-620	FIBER OPTIC CABLE (REMOVE) (UNDERGROUND)	LF	1000	\$0.60	\$600.00
633-2-31	FIBER OPTIC CONNECTION (INSTALL) (SPLICE)	EA	1000	\$38.00	\$38,000.00
633-2-32	FIBER OPTIC CONNECTION (INSTALL) (TERMINATION)	EA	1000	\$80.00	\$80,000.00
633-3-11	FIBER OPTIC CONNECTION HARDWARE (F&I) (SPLICE ENCLOSURE)	EA	1000	\$750.00	\$750,000.00
633-3-12	FIBER OPTIC CONNECTION HARDWARE (F&I) (SPLICE TRAY)	EA	1000	\$60.00	\$60,000.00
633-3-13	FIBER OPTIC CONNECTION HARDWARE (F&I) (PRETERMINATED CONNECTOR ASSEMBLY)	EA	1000	\$50.00	\$50,000.00
633-3-14	FIBER OPTIC CONNECTION HARDWARE (F&I) (BUFFER TUBE FAN OUT KIT)	EA	300	\$85.00	\$25,500.00
633-3-15	FIBER OPTIC CONNECTION HARDWARE (F&I) (PATCH PANEL, PRETERMINATED)	EA	300	\$1,500.00	\$450,000.00
633-3-16	FIBER OPTIC CONNECTION HARDWARE (F&I) (PATCH PANEL, FIELD TERMINATED)	EA	300	\$1,100.00	\$330,000.00
633-3-17	FIBER OPTIC CONNECTION HARDWARE (F&I) (CONNECTOR PANEL)	EA	300	\$110.00	\$33,000.00
633-3-31	FIBER OPTIC CONNECTION HARDWARE (INSTALL) (SPLICE ENCLOSURE)	EA	300	\$400.00	\$120,000.00
633-3-32	FIBER OPTIC CONNECTION HARDWARE (INSTALL) (SPLICE TRAY)	EA	300	\$17.00	\$5,100.00

EXHIBIT B Updated: 5/25/16
Emergency Response Traffic Signal Contract
Contract Number: Z7041
District-Wide Traffic Operations

ITEM NUMBER	ITEM DESCRIPTION	UNITS	Quantity	UNIT PRICES	EXTENDED PRICE
633-3-33	FIBER OPTIC CONNECTION HARDWARE (INSTALL) (PRETERMINATED CONNECTOR ASSEMBLY)	EA	300	\$28.00	\$8,400.00
633-3-34	FIBER OPTIC CONNECTION HARDWARE (INSTALL) (BUFFER TUBE FAN OUT KIT)	EA	300	\$55.00	\$16,500.00
633-3-35	FIBER OPTIC CONNECTION HARDWARE (INSTALL) (PATCH PANEL, PRETERMINATED)	EA	300	\$630.00	\$189,000.00
633-3-36	FIBER OPTIC CONNECTION HARDWARE (INSTALL) (PATCH PANEL, FIELD TERMINATED)	EA	300	\$300.00	\$90,000.00
633-3-37	FIBER OPTIC CONNECTION HARDWARE (INSTALL) (CONNECTOR PANEL)	EA	300	\$11.00	\$3,300.00
633-3-41	FIBER OPTIC CONNECTION HARDWARE (RELOCATE) (SPLICE ENCLOSURE)	EA	10	\$310.00	\$3,100.00
633-3-42	FIBER OPTIC CONNECTION HARDWARE (RELOCATE) (SPLICE TRAY)	EA	10	\$30.00	\$300.00
633-3-43	FIBER OPTIC CONNECTION HARDWARE (RELOCATE) (PRETERMINATED CONNECTOR ASSEMBLY)	EA	10	\$40.00	\$400.00
633-3-44	FIBER OPTIC CONNECTION HARDWARE (RELOCATE) (BUFFER TUBE FAN OUT KIT)	EA	10	\$70.00	\$700.00
633-3-45	FIBER OPTIC CONNECTION HARDWARE (RELOCATE) (PATCH PANEL, PRETERMINATED)	EA	10	\$465.00	\$4,650.00
633-3-46	FIBER OPTIC CONNECTION HARDWARE (RELOCATE) (PATCH PANEL, FIELD TERMINATED)	EA	10	\$440.00	\$4,400.00
633-3-47	FIBER OPTIC CONNECTION HARDWARE (RELOCATE) (CONNECTOR PANEL)	EA	10	\$30.00	\$300.00
633-3-51	FIBER OPTIC CONNECTION HARDWARE (ADJUST/MODIFY) (SPLICE ENCLOSURE)	EA	20	\$350.00	\$7,000.00
633-3-52	FIBER OPTIC CONNECTION HARDWARE (ADJUST/MODIFY) (SPLICE TRAY)	EA	20	\$12.00	\$240.00
633-3-53	FIBER OPTIC CONNECTION HARDWARE (ADJUST/MODIFY) (PRETERMINATED CONNECTOR ASSEMBLY)	EA	20	\$40.00	\$800.00
633-3-54	FIBER OPTIC CONNECTION HARDWARE (ADJUST/MODIFY) (BUFFER TUBE FAN OUT KIT)	EA	20	\$60.00	\$1,200.00
633-3-55	FIBER OPTIC CONNECTION HARDWARE (ADJUST/MODIFY) (PATCH PANEL, PRETERMINATED)	EA	20	\$465.00	\$9,300.00
633-3-56	FIBER OPTIC CONNECTION HARDWARE (ADJUST/MODIFY) (PATCH PANEL, FIELD TERMINATED)	EA	20	\$465.00	\$9,300.00
633-3-57	FIBER OPTIC CONNECTION HARDWARE (ADJUST/MODIFY) (CONNECTOR PANEL)	EA	20	\$30.00	\$600.00
633-4-1	TWISTED PAIR CABLE (F&I)	LF	10,000	\$3.25	\$32,500.00
633-4-3	TWISTED PAIR CABLE (INSTALL)	LF	100	\$2.00	\$200.00
633-4-4	TWISTED PAIR CABLE (RELOCATE)	LF	100	\$3.00	\$300.00
633-4-6	TWISTED PAIR CABLE (REMOVE)	LF	1000	\$0.55	\$550.00
633-8-1	MULTI-CONDUCTOR COMMUNICATION CABLE (F&I)	LF	10000	\$3.50	\$35,000.00
633-8-2	MULTI-CONDUCTOR COMMUNICATION CABLE (FURNISH)	LF	100	\$3.00	\$300.00
633-8-3	MULTI-CONDUCTOR COMMUNICATION CABLE (INSTALL)	LF	100	\$2.00	\$200.00
633-8-4	MULTI-CONDUCTOR COMMUNICATION CABLE (RELOCATE)	LF	100	\$3.00	\$300.00
633-8-5	MULTI-CONDUCTOR COMMUNICATION CABLE (ADJUST/MODIFY)	LF	100	\$2.00	\$200.00
633-8-6	MULTI-CONDUCTOR COMMUNICATION CABLE (REMOVE)	LF	1000	\$0.55	\$550.00
634-4-141	SPAN WIRE ASSEMBLY (F&I)(SINGLE POINT) (PERPENDICULAR)	PI	100	\$2,000.00	\$200,000.00
634-4-142	SPAN WIRE ASSEMBLY (F&I)(SINGLE POINT) (DIAGONAL)	PI	100	\$3,000.00	\$300,000.00
634-4-143	SPAN WIRE ASSEMBLY (F&I)(SINGLE POINT) (BOX OR DROP BOX)	PI	100	\$5,000.00	\$500,000.00
634-4-144	SPAN WIRE ASSEMBLY (F&I) (SINGLE POINT) (OTHER TYPE)	PI	100	\$4,000.00	\$400,000.00

EXHIBIT B Updated: 5/25/16
Emergency Response Traffic Signal Contract
Contract Number: Z7041
District-Wide Traffic Operations

ITEM NUMBER	ITEM DESCRIPTION	UNITS	Quantity	UNIT PRICES	EXTENDED PRICE
634-4-151	SPAN WIRE ASSEMBLY (F&I) (TWO POINT) (PERPENDICULAR)	PI	100	\$3,000.00	\$300,000.00
634-4-152	SPAN WIRE ASSEMBLY (F&I) (TWO POINT) (DIAGONAL)	PI	100	\$4,000.00	\$400,000.00
634-4-153	SPAN WIRE ASSEMBLY (F&I) (TWO POINT) (BOX)	PI	100	\$9,000.00	\$900,000.00
634-4-154	SPAN WIRE ASSEMBLY (F&I) (TWO POINT) (OTHER TYPE)	PI	100	\$8,000.00	\$800,000.00
634-4-341	SPAN WIRE ASSEMBLY (INSTALL) (SINGLE POINT ATTACH) (PERPENDICULAR)	PI	50	\$1,600.00	\$80,000.00
634-4-342	SPAN WIRE ASSEMBLY (INSTALL) (SINGLE POINT ATTACH) (DIAGONAL)	PI	50	\$1,800.00	\$90,000.00
634-4-343	SPAN WIRE ASSEMBLY (INSTALL) (SINGLE POINT) (BOX SPANS)	PI	50	\$4,000.00	\$200,000.00
634-4-344	SPAN WIRE ASSEMBLY (INSTALL) (SINGLE POINT ATTACH) (OTHER SPAN TYPE)	PI	50	\$3,000.00	\$150,000.00
634-4-351	SPAN WIRE ASSEMBLY (INSTALL) (TWO POINT) (PERPENDICULAR)	PI	50	\$2,000.00	\$100,000.00
634-4-352	SPAN WIRE ASSEMBLY (INSTALL) (TWO POINT) (DIAGONAL)	PI	50	\$3,000.00	\$150,000.00
634-4-353	SPAN WIRE ASSEMBLY (INSTALL) (TWO POINT) (BOX SPANS)	PI	50	\$6,000.00	\$300,000.00
634-4-354	SPAN WIRE ASSEMBLY (INSTALL) (TWO POINT) (OTHER SPAN TYPE)	PI	50	\$5,000.00	\$250,000.00
634-4-400	SPAN WIRE ASSEMBLY (ADJUST)	PI	100	\$400.00	\$40,000.00
634-4-600	SPAN WIRE ASSEMBLY (REMOVE)	PI	100	\$1,200.00	\$120,000.00
634-5-1	FIBERGLASS INSULATOR (FURNISH & INSTALL)	LF	2000	\$40.00	\$80,000.00
634-6-1	MESSENGER WIRE (FURNISH & INSTALL)	LF	3000	\$6.00	\$18,000.00
635-2-11	PULL & SPLICE BOX (F&I) (17" X 30" COVER SIZE)	EA	200	\$900.00	\$180,000.00
635-2-12	PULL & SPLICE BOX (F&I) (24" X 36" COVER SIZE)	EA	10	\$2,000.00	\$20,000.00
635-2-13	PULL & SPLICE BOX (F&I) (36" X 60" COVER SIZE)	EA	10	\$3,500.00	\$35,000.00
635-2-30	PULL & SPLICE BOX (INSTALL)	EA	10	\$1,200.00	\$12,000.00
635-2-40	PULL & SPLICE BOX (RELOCATE)	EA	10	\$1,800.00	\$18,000.00
635-2-50	PULL & SPLICE BOX (REPAIR)	EA	10	\$500.00	\$5,000.00
635-3-11	JUNCTION BOX (F&I) (AERIAL)	EA	10	\$300.00	\$3,000.00
635-3-12	JUNCTION BOX (F&I) (MOUNTED)	EA	10	\$3,000.00	\$30,000.00
635-3-13	JUNCTION BOX (F&I) (EMBEDDED)	EA	10	\$300.00	\$3,000.00
635-3-30	JUNCTION BOX (INSTALL)	EA	10	\$150.00	\$1,500.00
635-3-40	JUNCTION BOX (RELOCATE)	EA	10	\$250.00	\$2,500.00
639-1-111	ELECTRICAL POWER SERVICE (F&I) (OVERHEAD) (METER FURNISHED BY POWER COMPANY)	AS	100	\$4,000.00	\$400,000.00
639-1-121	ELECTRICAL POWER SERVICE (F&I) (UNDERGROUND) (METER FURNISHED BY POWER COMPANY)	AS	20	\$5,000.00	\$100,000.00
639-1-410	ELECTRICAL POWER SERVICE (RELOCATE) (OVERHEAD)	AS	20	\$1,000.00	\$20,000.00
639-1-420	ELECTRICAL POWER SERVICE (RELOCATE) (UNDERGROUND)	AS	20	\$1,000.00	\$20,000.00
639-1-610	ELECTRICAL POWER SERVICE (REMOVE) (OVERHEAD)	AS	50	\$200.00	\$10,000.00
639-1-620	ELECTRICAL POWER SERVICE (REMOVE) (UNDERGROUND)	AS	20	\$200.00	\$4,000.00
639-2-1	ELECTRICAL SERVICE WIRE (F&I)	LF	1000	\$10.00	\$10,000.00
639-2-4	ELECTRICAL SERVICE WIRE (RELOCATE)	LF	1000	\$4.00	\$4,000.00
639-2-6	ELECTRICAL SERVICE WIRE (REMOVE)	LF	1000	\$1.00	\$1,000.00
639-3-11	ELECTRICAL SERVICE DISCONNECT(F&I) (POLE MOUNT)	EA	50	\$800.00	\$40,000.00
639-3-12	ELECTRICAL SERVICE DISCONNECT(F&I) (CABINET)	EA	50	\$800.00	\$40,000.00
639-3-60	ELECTRICAL SERVICE DISCONNECT (F&I) (REMOVE)	EA	50	\$100.00	\$5,000.00
639-3-61	ELECTRICAL SERVICE DISCONNECT (REMOVE) (POLE)	EA	50	\$100.00	\$5,000.00
639-3-62	ELECTRICAL SERVICE DISCONNECT (REMOVE) (CABINET)	EA	50	\$100.00	\$5,000.00
639-4-3	INSTALL FDOT EMERGENCY GENERATOR-PORTABLE (RETROFIT ALREADY IN PLACE)	EA	100	\$1,000.00	\$100,000.00

EXHIBIT B Updated: 5/25/16
Emergency Response Traffic Signal Contract
Contract Number: Z7041
District-Wide Traffic Operations

ITEM NUMBER	ITEM DESCRIPTION	UNITS	Quantity	UNIT PRICES	EXTENDED PRICE
639-4-4	INSTALL FDOT EMERGENCY GENERATOR-PORTABLE AND RETROFIT (RETROFIT FURNISHED BY CONTRACTOR)	EA	100	\$1,500.00	\$150,000.00
639-4-5	EMERGENCY GENERATOR-PORTABLE, MONITOR AND	HR	100	\$150.00	\$15,000.00
641-2-11	PREST CONC POLE (F&I)(TYPE P-II PEDESTAL)	EA	100	\$1,500.00	\$150,000.00
641-2-12	PREST CONC POLE (F&I)(TYPE P-II SVC POLE)	EA	100	\$1,000.00	\$100,000.00
641-2-13	PREST CONC POLE (F&I)(TYPE P-III)	EA	100	\$7,000.00	\$700,000.00
641-2-14	PREST CONC POLE (F&I)(TYPE P-IV)	EA	100	\$9,000.00	\$900,000.00
641-2-15	PREST CONC POLE (F&I)(TYPE P-V)	EA	100	\$13,000.00	\$1,300,000.00
641-2-16	PREST CONC POLE (F&I)(TYPE P-VI)	EA	500	\$14,000.00	\$7,000,000.00
641-2-17	PREST CONC POLE (F&I)(TYPE P-VII)	EA	500	\$15,000.00	\$7,500,000.00
641-2-18	PREST CONC POLE (F&I)(TYPE P-VIII)	EA	500	\$16,000.00	\$8,000,000.00
641-2-19	PREST CONC POLE (F&I)(CUSTOM DESIGN)	EA	500	\$18,000.00	\$9,000,000.00
641-2-30	PREST CONC POLE (INSTALL)	EA	50	\$12,000.00	\$600,000.00
641-2-60	PREST CONC POLE (COMPLETE/DEEP REMOVAL-PEDESTAL SERVICE POLE)	EA	50	\$300.00	\$15,000.00
641-2-70	PREST CONC POLE (SHALLOW REMOVAL-POLES 30' AND GREATER)	EA	100	\$4,000.00	\$400,000.00
641-2-80	PREST CONC POLE (COMPLETE/DEEP REMOVAL-POLES 30' AND GREATER)	EA	50	\$5,000.00	\$250,000.00
643-1	STRAIN POLES (WOOD) (GUYING)	EA	100	\$800.00	\$80,000.00
643-130	STRAIN POLES WOOD(FURNISH & INSTALL)(30')	EA	1	\$1,000.00	\$1,000.00
643-140	STRAIN POLES WOOD(FURNISH & INSTALL)(40')	EA	10	\$1,500.00	\$15,000.00
643-150	STRAIN POLES WOOD(FURNISH & INSTALL)(50')	EA	100	\$2,000.00	\$200,000.00
643-400	STRAIN POLES WOOD (RELOCATE)	EA	50	\$500.00	\$25,000.00
643-600	STRAIN POLES WOOD (REMOVE)	EA	50	\$200.00	\$10,000.00
646-1-11	ALUMINUM SIGNALS POLE (F&I) (PEDESTAL)	EA	50	\$1,100.00	\$55,000.00
646-1-12	ALUMINUM SIGNALS POLE (F&I) (PEDESTRIAN DETECTOR POST)	EA	50	\$800.00	\$40,000.00
646-1-30	ALUMINUM SIGNALS POLE (INSTALL)	EA	50	\$700.00	\$35,000.00
646-1-40	ALUMINUM SIGNALS POLE (RELOCATE)	EA	50	\$900.00	\$45,000.00
646-1-60	ALUMINUM SIGNALS POLE (REMOVE)	EA	50	\$300.00	\$15,000.00
649-1-10	STEEL STRAIN POLE (F&I) (PEDESTAL)	EA	10	\$1,300.00	\$13,000.00
649-1-11	STEEL STRAIN POLE(F&I)(TYPE PS-IV)	EA	500	\$29,000.00	\$14,500,000.00
649-1-12	STEEL STRAIN POLE(F&I)(TYPE PS-V)	EA	500	\$30,000.00	\$15,000,000.00
649-1-13	STEEL STRAIN POLE(F&I)(TYPE PS-VI)	EA	500	\$32,000.00	\$16,000,000.00
649-1-14	STEEL STRAIN POLE(F&I)(TYPE PS-VII)	EA	500	\$35,000.00	\$17,500,000.00
649-1-15	STEEL STRAIN POLE(F&I)(TYPE PS-VIII)	EA	500	\$38,000.00	\$19,000,000.00
649-1-16	STEEL STRAIN POLE(F&I)(TYPE PS-IX)	EA	500	\$41,000.00	\$20,500,000.00
649-1-17	STEEL STRAIN POLE(F&I)(TYPE PS-X)	EA	500	\$43,000.00	\$21,500,000.00
649-1-30	STEEL STRAIN POLE (INSTALL)	EA	50	\$23,000.00	\$1,150,000.00
649-1-61	STEEL STRAIN POLE (COMPLETE REMOVAL) (PEDESTAL OR SERVICE POLE)	EA	100	\$300.00	\$30,000.00
649-1-62	STEEL STRAIN POLE (REMOVE) (PS POLE) (FOUNDATION REMAINS)	EA	100	\$4,000.00	\$400,000.00
649-1-63	STEEL STRAIN POLE (SHALLOW REMOVAL) (BOLT ON ATTACHMENT)	EA	100	\$5,000.00	\$500,000.00
649-1-65	STEEL STRAIN POLE (DEEP REMOVAL) (BOLT ON ATTACHMENT)	EA	100	\$6,000.00	\$600,000.00
649-31-201	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(36')	EA	10	\$26,000.00	\$260,000.00
649-31-202	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(46')	EA	10	\$28,000.00	\$280,000.00
649-31-203	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(60')	EA	500	\$34,000.00	\$17,000,000.00
649-31-204	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(70.5')	EA	500	\$38,000.00	\$19,000,000.00
649-31-205	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(78')	EA	500	\$37,000.00	\$18,500,000.00
649-31-206	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/ LUM(36')	EA	10	\$29,000.00	\$290,000.00
649-31-207	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/ LUM(46')	EA	10	\$32,000.00	\$320,000.00

EXHIBIT B Updated: 5/25/16
Emergency Response Traffic Signal Contract
Contract Number: Z7041
District-Wide Traffic Operations

ITEM NUMBER	ITEM DESCRIPTION	UNITS	Quantity	UNIT PRICES	EXTENDED PRICE
649-31-208	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/ LUM(60')	EA	500	\$37,000.00	\$18,500,000.00
649-31-209	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(70.5')	EA	500	\$39,000.00	\$19,500,000.00
649-31-210	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(36-36)	EA	10	\$31,000.00	\$310,000.00
649-31-211	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(36-46)	EA	10	\$33,000.00	\$330,000.00
649-31-212	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(36-60)	EA	500	\$41,000.00	\$20,500,000.00
649-31-213	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(36-70.5)	EA	500	\$45,000.00	\$22,500,000.00
649-31-214	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(46-46)	EA	10	\$39,000.00	\$390,000.00
649-31-215	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(46-60)	EA	500	\$45,000.00	\$22,500,000.00
649-31-216	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(46-70.5)	EA	500	\$48,000.00	\$24,000,000.00
649-31-217	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(60-60)	EA	500	\$49,000.00	\$24,500,000.00
649-31-218	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(60-70.5)	EA	500	\$50,000.00	\$25,000,000.00
649-31-219	M/ARM (F&I)(DOUBLE ARM W/O LUM(70.5-70.5)	EA	500	\$51,000.00	\$25,500,000.00
649-31-999	M/ARM (F&I) (CUSTOM WIND SPEED) (CUSTOM LENGTH)	EA	200	\$54,000.00	\$10,800,000.00
649-32-201	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(36')	EA	10	\$9,000.00	\$90,000.00
649-32-202	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(46')	EA	10	\$11,000.00	\$110,000.00
649-32-203	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(60')	EA	500	\$15,000.00	\$7,500,000.00
649-32-204	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(70.5')	EA	500	\$18,000.00	\$9,000,000.00
649-32-205	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(78')	EA	500	\$19,000.00	\$9,500,000.00
649-32-206	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/ LUM(36')	EA	10	\$13,000.00	\$130,000.00
649-32-207	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/ LUM(46')	EA	10	\$14,000.00	\$140,000.00
649-32-208	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/ LUM(60')	EA	500	\$18,000.00	\$9,000,000.00
649-32-209	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(70.5')	EA	500	\$19,000.00	\$9,500,000.00
649-32-210	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(36-36)	EA	10	\$14,000.00	\$140,000.00
649-32-211	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(36-46)	EA	10	\$16,000.00	\$160,000.00
649-32-212	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(36-60)	EA	500	\$22,000.00	\$11,000,000.00
649-32-213	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(36-70.5)	EA	500	\$25,000.00	\$12,500,000.00
649-32-214	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(46-46)	EA	10	\$20,000.00	\$200,000.00
649-32-215	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(46-60)	EA	500	\$23,000.00	\$11,500,000.00
649-32-216	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(46-70.5)	EA	500	\$27,000.00	\$13,500,000.00
649-32-217	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(60-60)	EA	500	\$27,000.00	\$13,500,000.00
649-32-218	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(60-70.5)	EA	500	\$28,000.00	\$14,000,000.00
649-32-219	M/ARM (F&I)(DOUBLE ARM W/O LUM(70.5-70.5)	EA	500	\$29,000.00	\$14,500,000.00
649-33-000	STEEL MAST ARM (INSTALL)	EA	10	\$24,000.00	\$240,000.00
649-34-000	STEEL MAST ARM (RELOCATE)	EA	10	\$33,000.00	\$330,000.00
649-35-201	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(36')	EA	10	\$4,000.00	\$40,000.00
649-35-202	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(46')	EA	10	\$6,000.00	\$60,000.00
649-35-203	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(60')	EA	500	\$8,000.00	\$4,000,000.00
649-35-204	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(70.5')	EA	500	\$8,500.00	\$4,250,000.00
649-35-205	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(78')	EA	500	\$9,000.00	\$4,500,000.00

EXHIBIT B Updated: 5/25/16
Emergency Response Traffic Signal Contract
Contract Number: Z7041
District-Wide Traffic Operations

ITEM NUMBER	ITEM DESCRIPTION	UNITS	Quantity	UNIT PRICES	EXTENDED PRICE
649-35-206	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/ LUM(36')	EA	10	\$4,000.00	\$40,000.00
649-35-207	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/ LUM(46')	EA	10	\$6,000.00	\$60,000.00
649-35-208	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/ LUM(60')	EA	500	\$7,000.00	\$3,500,000.00
649-35-209	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(70.5')	EA	500	\$8,000.00	\$4,000,000.00
649-35-210	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(36-36)	EA	10	\$7,000.00	\$70,000.00
649-35-211	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(36-46)	EA	10	\$9,000.00	\$90,000.00
649-35-212	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(36-60)	EA	500	\$11,000.00	\$5,500,000.00
649-35-213	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(36-70.5)	EA	500	\$12,000.00	\$6,000,000.00
649-35-214	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(46-46)	EA	10	\$13,000.00	\$130,000.00
649-35-215	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(46-60)	EA	500	\$14,000.00	\$7,000,000.00
649-35-216	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(46-70.5)	EA	500	\$14,000.00	\$7,000,000.00
649-35-217	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(60-60)	EA	500	\$18,000.00	\$9,000,000.00
649-35-218	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(60-70.5)	EA	500	\$15,000.00	\$7,500,000.00
649-35-219	M/ARM (F&I)(DOUBLE ARM W/O LUM(70.5-70.5)	EA	500	\$16,000.00	\$8,000,000.00
649-36-100	STEEL MAST ARM (REMOVE) (FOUNDATION REMAINS)	EA	100	\$4,000.00	\$400,000.00
649-36-300	STEEL MAST ARM (SHALLOW REMOVAL) (BOLT ON ATTACHMENT)	EA	100	\$4,500.00	\$450,000.00
649-36-500	STEEL MAST ARM (DEEP REMOVAL) (BOLT ON ATTACHMENT)	EA	100	\$6,000.00	\$600,000.00
649-36-700	MAST ARM (REMOVE ARM AND ATTACHMENTS - POLE REMAINS)	EA	100	\$2,500.00	\$250,000.00
649-38-000	STEEL MAST ARM (REPAIR)	EA	500	\$2,000.00	\$1,000,000.00
650-1-102	SIGNAL AUX (REPAIR/REPLACE/RETROFIT) (F&I) (BACKPLATE-BLACK WITH REFLECTIVE BORDER)	EA	1000	\$300.00	\$300,000.00
650-1-105	SIGNAL AUX (REPAIR/REPLACE/RETROFIT) (F&I) (TUNNEL VISOR)	EA	1000	\$100.00	\$100,000.00
650-1-106	SIGNAL AUX (REPAIR/REPLACE/RETROFIT) (F&I) (12' LED MODULE-STANDARD)	EA	5000	\$150.00	\$750,000.00
650-1-11	TRAFFIC SIGNAL (F&I) (ALUMINUM) (1 SECT, 1 WAY)	AS	10	\$1,000.00	\$10,000.00
650-1-12	TRAFFIC SIGNAL (F&I) (ALUMINUM) (1 SECT, 2-4 WAY)	AS	10	\$2,000.00	\$20,000.00
650-1-13	TRAFFIC SIGNAL (F&I) (ALUMINUM) (2 SECT, 1-2 WAY)	AS	10	\$2,000.00	\$20,000.00
650-1-14	TRAFFIC SIGNAL (F&I) (ALUMINUM) (3 SECT, 1 WAY)	AS	3000	\$2,000.00	\$6,000,000.00
650-1-15	TRAFFIC SIGNAL (F&I) (ALUMINUM) (3 SECT, 2-4 WAY)	AS	1000	\$3,000.00	\$3,000,000.00
650-1-16	TRAFFIC SIGNAL (F&I) (ALUMINUM) (4 SECT, 1 WAY)	AS	1000	\$3,000.00	\$3,000,000.00
650-1-17	TRAFFIC SIGNAL (F&I) (ALUMINUM) (4 SECT, 2-4 WAY)	AS	10	\$6,000.00	\$60,000.00
650-1-18	TRAFFIC SIGNAL (F&I) (ALUMINUM) (5 SECT, 1 WAY) (STRAIGHT)	AS	200	\$4,000.00	\$800,000.00
650-1-19	TRAFFIC SIGNAL (F&I) (ALUMINUM) (5 SECT, 1 WAY) (CLUSTER)	AS	500	\$4,000.00	\$2,000,000.00
650-1-302	SIGNAL AUX (REPAIR/REPLACE/RETROFIT) (INSTALL) (BACKPLATE-BLACK WITH REFLECTIVE BORDER)	EA	1000	\$100.00	\$100,000.00
650-1-305	SIGNAL AUX (REPAIR/REPLACE/RETROFIT) (INSTALL) (TUNNEL VISOR)	EA	1000	\$50.00	\$50,000.00
650-1-306	SIGNAL AUX (REPAIR/REPLACE/RETROFIT) (INSTALL) (12" LED MODULE-STANDARD)	EA	1000	\$100.00	\$100,000.00
650-1-41	TRAFFIC SIGNAL (F&I) (PROGRAMMABLE) (1 SECT, 1 WAY)	AS	10	\$3,000.00	\$30,000.00

EXHIBIT B Updated: 5/25/16
Emergency Response Traffic Signal Contract
Contract Number: Z7041
District-Wide Traffic Operations

ITEM NUMBER	ITEM DESCRIPTION	UNITS	Quantity	UNIT PRICES	EXTENDED PRICE
650-1-42	TRAFFIC SIGNAL (F&I) (PROGRAMMABLE) (1 SECT, 2-4 WAY)	AS	10	\$6,000.00	\$60,000.00
650-1-43	TRAFFIC SIGNAL (F&I) (PROGRAMMABLE) (2 SECT, 1-2 WAY)	AS	10	\$5,300.00	\$53,000.00
650-1-44	TRAFFIC SIGNAL (F&I) (PROGRAMMABLE) (3 SECT, 1 WAY)	AS	100	\$4,500.00	\$450,000.00
650-1-45	TRAFFIC SIGNAL (F&I) (PROGRAMMABLE) (3 SECT, 2-4 WAY)	AS	50	\$15,000.00	\$750,000.00
650-1-46	TRAFFIC SIGNAL (F&I) (PROGRAMMABLE) (4 SECT, 1 WAY)	AS	50	\$5,800.00	\$290,000.00
650-1-47	TRAFFIC SIGNAL (F&I) (PROGRAMMABLE) (4 SECT, 2-4 WAY)	AS	10	\$16,000.00	\$160,000.00
650-1-48	TRAFFIC SIGNAL (F&I) (PROGRAMMABLE) (5 SECT, 1 WAY) (STRAIGHT)	AS	20	\$6,700.00	\$134,000.00
650-1-49	TRAFFIC SIGNAL (F&I) (PROGRAMMABLE) (5 SECT, 1 WAY) (CLUSTER)	AS	20	\$7,000.00	\$140,000.00
650-1-50	TRAFFIC SIGNAL (INSTALL)	AS	1000	\$600.00	\$600,000.00
650-1-60	TRAFFIC SIGNAL (REMOVE)	AS	10000	\$300.00	\$3,000,000.00
650-1-70	TRAFFIC SIGNAL (RELOCATE)	AS	10	\$800.00	\$8,000.00
653-1-11	PEDESTRIAN SIGNAL (F&I) (LED COUNTDOWN) (1 WAY)	AS	5000	\$800.00	\$4,000,000.00
653-1-12	PEDESTRIAN SIGNAL (F&I) (LED COUNTDOWN) (2 WAY)	AS	5000	\$1,600.00	\$8,000,000.00
653-1-30	PEDESTRIAN SIGNAL (INSTALL)	AS	1000	\$300.00	\$300,000.00
653-1-40	PEDESTRIAN SIGNAL (RELOCATE)	AS	100	\$500.00	\$50,000.00
653-1-60	PEDESTRIAN SIGNAL (REMOVE) (POLE TO REMAIN)	AS	1000	\$100.00	\$100,000.00
654-2-11	RECTANGULAR RAPID FLASHING BEACON (F&I) (AC POWERED) (COMPLETE ASSEMBLY) (SINGLE DIRECTION)	AS	10	\$8,000.00	\$80,000.00
654-2-12	RECTANGULAR RAPID FLASHING BEACON (F&I) (AC POWERED) (COMPLETE ASSEMBLY) (BACK TO BACK)	AS	10	\$8,000.00	\$80,000.00
654-2-14	RECTANGULAR RAPID FLASHING BEACON (F&I) (AC POWERED) (SIGNS AND RRFB UNIT)	EA	10	\$8,000.00	\$80,000.00
654-2-21	RECTANGULAR RAPID FLASHING BEACON (F&I) (SOLAR) (COMPLETE ASSEMBLY) (SINGLE DIRECTION)	AS	100	\$8,000.00	\$800,000.00
654-2-22	RECTANGULAR RAPID FLASHING BEACON (F&I) (SOLAR) (COMPLETE ASSEMBLY) (BACK TO BACK)	AS	100	\$8,000.00	\$800,000.00
654-2-24	RECTANGULAR RAPID FLASHING BEACON (F&I) (SOLAR) (SIGNS AND RRFB UNIT)	EA	100	\$8,000.00	\$800,000.00
654-2-30	RECTANGULAR RAPID FLASHING BEACON (INSTALL)	AS	10	\$4,000.00	\$40,000.00
654-2-40	RECTANGULAR RAPID FLASHING BEACON (RELOCATE)	AS	10	\$4,000.00	\$40,000.00
654-2-50	RECTANGULAR RAPID FLASHING BEACON (ADJUST/MODIFY)	AS	10	\$1,000.00	\$10,000.00
654-2-60	RECTANGULAR RAPID FLASHING BEACON (REMOVE)	AS	10	\$500.00	\$5,000.00
654-3-10	PEDESTRIAN HYBRID BEACON ASSEMBLY (F&I) (COMPLETE ASSEMBLY)	AS	10	\$3,000.00	\$30,000.00
654-3-30	PEDESTRIAN HYBRID BEACON ASSEMBLY (INSTALL)	AS	10	\$1,000.00	\$10,000.00
654-3-50	PEDESTRIAN HYBRID BEACON ASSEMBLY (ADJUST/ MODIFY)	AS	10	\$600.00	\$6,000.00
654-3-60	PEDESTRIAN HYBRID BEACON ASSEMBLY (REMOVE)	AS	10	\$500.00	\$5,000.00
659-1-110	MAST ARM, SPAN WIRE, AND POLE MOUNTING ASSEMBLIES (REPAIR/REPLACE/RETROFIT) (F&I) (MAST ARM HANGER)	EA	10	\$600.00	\$6,000.00
659-1-120	MAST ARM, SPAN WIRE, AND POLE MOUNTING ASSEMBLIES (REPAIR/REPLACE/RETROFIT) (F&I) (SPAN WIRE HANGER)	EA	10	\$600.00	\$6,000.00
659-1-310	MAST ARM, SPAN WIRE AND POLE MOUNTING ASSEMBLIES (REPAIR/REPLACE/RETROFIT) (INSTALL) (MAST ARM HANGER)	EA	10	\$300.00	\$3,000.00
659-1-320	MAST ARM, SPAN WIRE AND POLE MOUNTING ASSEMBLIES (REPAIR/REPLACE/RETROFIT) (INSTALL) (SPAN WIRE HANGER)	EA	10	\$300.00	\$3,000.00
660-1-101	LOOP DET. INDUCT. (F&I)(TYPE 1, 1 CHAN., RELAY OUTPUT, SHELF MOUNTED)	EA	1000	\$120.00	\$120,000.00

EXHIBIT B Updated: 5/25/16
Emergency Response Traffic Signal Contract
Contract Number: Z7041
District-Wide Traffic Operations

ITEM NUMBER	ITEM DESCRIPTION	UNITS	Quantity	UNIT PRICES	EXTENDED PRICE
660-1-102	LOOP DET. INDUCT. (F&I)(TYPE 2, 1 CHAN., RELAY OUTPUT, SHELF MOUNTED, TIME DELAY)	EA	1000	\$160.00	\$160,000.00
660-1-103	LOOP DET. INDUCT. (F&I)(TYPE 3, 1 CHAN., SOLID STATE, SHELF MOUNTED, TIME DELAY)	EA	1	\$130.00	\$130.00
660-1-104	LOOP DET. INDUCT. (F&I)(TYPE 4, 1 CHAN., SOLID STATE, SHELF MOUNTED, TIME DELAY)	EA	1000	\$160.00	\$160,000.00
660-1-105	LOOP DET. INDUCT. (F&I)(TYPE 5, 2 CHAN., SOID STATE, SHELF MOUNTED)	EA	1	\$280.00	\$280.00
660-1-106	LOOP DET. INDUCT. (F&I)(TYPE 6, 2 CHAN., SOLID STATE, SHELF MOUNTED, TIME DELAY)	EA	1	\$300.00	\$300.00
660-1-107	LOOP DET. INDUCT. (F&I)(TYPE 7, 4 CHAN., SOLID STATE, SHELF MOUNTED)	EA	1	\$500.00	\$500.00
660-1-108	LOOP DET. INDUCT. (F&I)(TYPE 8, 4 CHAN., SOLID STATE, SHELF MOUNTED, TIME DELAY)	EA	1000	\$500.00	\$500,000.00
660-1-109	LOOP DET. INDUCT. (F&I)(TYPE 9, 2 CHAN., SOLID STATE, RACK MOUNTED)	EA	1	\$350.00	\$350.00
660-1-110	LOOP DET. INDUCT. (F&I)(TYPE 10, 2 CHAN., SOLID STATE, RACK MOUNTED, TIME DELAY)	EA	1	\$350.00	\$350.00
660-1-111	LOOP DET. INDUCT. (F&I)(TYPE 11, 4 CHAN., SOLID STATE, RACK MOUNTED)	EA	1	\$400.00	\$400.00
660-1-112	LOOP DET. INDUCT. (F&I)(TYPE 12, 4 CHAN., SOLID STATE, RACK MOUNTED, TIME DELAY)	EA	1	\$500.00	\$500.00
660-1-300	LOOP DET. INDUCT. (INSTALL)	EA	100	\$50.00	\$5,000.00
660-1-400	LOOP DET. INDUCT. (RELOCATE)	EA	1	\$100.00	\$100.00
660-1-600	LOOP DET. INDUCT. (REMOVE)	EA	1	\$20.00	\$20.00
660-2-101	LOOP ASSEMBLY (F&I) (TYPE A)	AS	1000	\$1,000.00	\$1,000,000.00
660-2-102	LOOP ASSEMBLY (F&I) (TYPE B)	AS	1000	\$1,000.00	\$1,000,000.00
660-2-103	LOOP ASSEMBLY (F&I) (TYPE C)	AS	1	\$1,500.00	\$1,500.00
660-2-104	LOOP ASSEMBLY (F&I) (TYPE D)	AS	1	\$1,500.00	\$1,500.00
660-2-105	LOOP ASSEMBLY (F&I) (TYPE E)	AS	1	\$1,000.00	\$1,000.00
660-2-106	LOOP ASSEMBLY (F&I) (TYPE F)	AS	1000	\$1,000.00	\$1,000,000.00
660-2-107	LOOP ASSEMBLY (F&I) (TYPE G)	AS	1	\$2,500.00	\$2,500.00
660-2-108	LOOP ASSEMBLY (F&I) (TYPE H)	AS	1	\$2,000.00	\$2,000.00
660-3-11	VEHICLE DETECTION SYSTEM - MICROWAVE (F&I) (CABINET EQUIPMENT)	EA	10	\$3,000.00	\$30,000.00
660-3-12	VEHICLE DETECTION SYSTEM - MICROWAVE (F&I) (ABOVE GROUND EQUIPMENT)	EA	10	\$12,000.00	\$120,000.00
660-3-31	VEHICLE DETECTION SYSTEM - MICROWAVE (INSTALL) (CABINET EQUIPMENT)	EA	10	\$600.00	\$6,000.00
660-3-32	VEHICLE DETECTION SYSTEM - MICROWAVE (INSTALL) (ABOVE GROUND EQUIPMENT)	EA	10	\$4,000.00	\$40,000.00
660-3-40	VEHICLE DETECTION SYSTEM - MICROWAVE (RELOCATE) (COMPLETE SYSTEM)	EA	10	\$5,000.00	\$50,000.00
660-3-41	VEHICLE DETECTION SYSTEM - MICROWAVE (RELOCATE) (CABINET EQUIPMENT)	EA	10	\$800.00	\$8,000.00
660-3-42	VEHICLE DETECTION SYSTEM - MICROWAVE (RELOCATE) (ABOVE GROUND EQUIPMENT)	EA	10	\$3,000.00	\$30,000.00
660-3-50	VEHICLE DETECTION SYSTEM - MICROWAVE (ADJUST/MODIFY) (COMPLETE SYSTEM)	EA	10	\$3,000.00	\$30,000.00
660-3-51	VEHICLE DETECTION SYSTEM - MICROWAVE (ADJUST/MODIFY) (CABINET EQUIPMENT)	EA	10	\$400.00	\$4,000.00
660-3-52	VEHICLE DETECTION SYSTEM - MICROWAVE (ADJUST/MODIFY) (ABOVE GROUND EQUIPMENT)	EA	10	\$2,100.00	\$21,000.00
660-3-60	VEHICLE DETECTION SYSTEM - MICROWAVE (REMOVE) (COMPLETE SYSTEM)	EA	10	\$1,000.00	\$10,000.00
660-3-80	VEHICLE DETECTION SYSTEM - MICROWAVE (PREVENTATIVE MAINTENANCE) (COMPLETE SYSTEM)	EA	10	\$800.00	\$8,000.00

EXHIBIT B Updated: 5/25/16
Emergency Response Traffic Signal Contract
Contract Number: Z7041
District-Wide Traffic Operations

ITEM NUMBER	ITEM DESCRIPTION	UNITS	Quantity	UNIT PRICES	EXTENDED PRICE
660-3-90	VEHICLE DETECTION SYSTEM - MICROWAVE (DIAGNOSIS AND MISCELLANEOUS REPAIR) (COMPLETE SYSTEM)	EA	10	\$1,400.00	\$14,000.00
660-4-10	VEHICLE DETECTION SYSTEM - VIDEO (F&I) (COMPLETE SYSTEM)	EA	1000	\$36,000.00	\$36,000,000.00
660-4-11	VEHICLE DETECTION SYSTEM - VIDEO (F&I) (CABINET EQUIPMENT)	EA	1000	\$8,000.00	\$8,000,000.00
660-4-12	VEHICLE DETECTION SYSTEM - VIDEO (F&I) (ABOVE GROUND EQUIPMENT)	EA	100	\$10,000.00	\$1,000,000.00
660-4-30	VEHICLE DETECTION SYSTEM - VIDEO (INSTALL) (COMPLETE SYSTEM)	EA	100	\$3,000.00	\$300,000.00
660-4-31	VEHICLE DETECTION SYSTEM - VIDEO (INSTALL) (CABINET EQUIPMENT)	EA	100	\$1,000.00	\$100,000.00
660-4-32	VEHICLE DETECTION SYSTEM - VIDEO (INSTALL) (ABOVE GROUND EQUIPMENT)	EA	100	\$500.00	\$50,000.00
660-4-40	VEHICLE DETECTION SYSTEM - VIDEO (RELOCATE) (COMPLETE SYSTEM)	EA	10	\$4,000.00	\$40,000.00
660-4-41	VEHICLE DETECTION SYSTEM - VIDEO (RELOCATE) (CABINET EQUIPMENT)	EA	10	\$1,000.00	\$10,000.00
660-4-42	VEHICLE DETECTION SYSTEM - VIDEO (RELOCATE) (ABOVE GROUND EQUIPMENT)	EA	10	\$1,500.00	\$15,000.00
660-4-50	VEHICLE DETECTION SYSTEM - VIDEO (ADJUST/MODIFY) (COMPLETE SYSTEM)	EA	10	\$1,000.00	\$10,000.00
660-4-51	VEHICLE DETECTION SYSTEM - VIDEO (ADJUST/MODIFY) (CABINET EQUIPMENT)	EA	10	\$500.00	\$5,000.00
660-4-52	VEHICLE DETECTION SYSTEM - VIDEO (ADJUST/MODIFY) (ABOVE GROUND EQUIPMENT)	EA	10	\$1,000.00	\$10,000.00
660-4-60	VEHICLE DETECTION SYSTEM - VIDEO (REMOVE) (COMPLETE SYSTEM)	EA	10	\$2,000.00	\$20,000.00
660-4-80	VEHICLE DETECTION SYSTEM - VIDEO (PREVENTATIVE MAINTENANCE) (COMPLETE SYSTEM)	EA	10	\$3,000.00	\$30,000.00
660-4-90	VEHICLE DETECTION SYSTEM - VIDEO (DIAGNOSIS AND MISCELLANEOUS REPAIR) (COMPLETE SYSTEM)	EA	10	\$2,000.00	\$20,000.00
660-6-111	VEHICLE DETECTION SYSTEM - AVI (F&I) (TRANSPONDER) (CABINET EQUIPMENT)	EA	10	\$25,000.00	\$250,000.00
660-6-112	VEHICLE DETECTION SYSTEM - AVI (F&I) (TRANSPONDER) (ABOVE GROUND EQUIPMENT)	EA	10	\$30,000.00	\$300,000.00
660-6-121	VEHICLE DETECTION SYSTEM - AVI (F&I) (BLUETOOTH) (CABINET EQUIPMENT)	EA	10	\$4,000.00	\$40,000.00
660-6-122	VEHICLE DETECTION SYSTEM - AVI (F&I) (BLUETOOTH) (ABOVE GROUND EQUIPMENT)	EA	10	\$16,000.00	\$160,000.00
663-1-110	SIGNAL PRIORITY AND PREEMPTION SYSTEM (F&I) (OPTICAL) (COMPLETE SYSTEM)	EA	10	\$9,000.00	\$90,000.00
663-1-120	SIGNAL PRIORITY AND PREEMPTION SYSTEM (F&I) (GPS) (COMPLETE SYSTEM)	EA	10	\$10,000.00	\$100,000.00
663-1-130	SIGNAL PRIORITY AND PREEMPTION SYSTEM (F&I) (RADIO FREQUENCY)	EA	10	\$10,000.00	\$100,000.00
663-1-310	SIGNAL PRIORITY AND PREEMPTION SYSTEM (INSTALL) (OPTICAL) (COMPLETE SYSTEM)	EA	1	\$3,000.00	\$3,000.00
663-1-311	SIGNAL PRIORITY AND PREEMPTION SYSTEM (INSTALL) (OPTICAL) (CABINET ELECTRONICS)	EA	1	\$1,000.00	\$1,000.00
663-1-312	SIGNAL PRIORITY AND PREEMPTION SYSTEM (INSTALL) (OPTICAL) (DETECTOR)	EA	1	\$2,000.00	\$2,000.00
663-1-320	SIGNAL PRIORITY AND PREEMPTION SYSTEM (INSTALL) (GPS) (COMPLETE SYSTEM)	EA	1	\$3,000.00	\$3,000.00
663-1-321	SIGNAL PRIORITY AND PREEMPTION SYSTEM (INSTALL) (GPS) (CABINET ELECTRONICS)	EA	1	\$1,000.00	\$1,000.00

EXHIBIT B Updated: 5/25/16
Emergency Response Traffic Signal Contract
Contract Number: Z7041
District-Wide Traffic Operations

ITEM NUMBER	ITEM DESCRIPTION	UNITS	Quantity	UNIT PRICES	EXTENDED PRICE
663-1-322	SIGNAL PRIORITY AND PREEMPTION SYSTEM (INSTALL) (GPS) (DETECTOR)	EA	1	\$1,000.00	\$1,000.00
663-1-330	SIGNAL PRIORITY AND PREEMPTION SYSTEM (INSTALL) (RADIO FREQUENCY) (COMPLETE SYSTEM)	EA	1	\$3,000.00	\$3,000.00
663-1-331	SIGNAL PRIORITY AND PREEMPTION SYSTEM (INSTALL) (RADIO FREQUENCY) (CABINET ELECTRONICS)	EA	1	\$1,000.00	\$1,000.00
663-1-332	SIGNAL PRIORITY AND PREEMPTION SYSTEM (INSTALL) (RADIO FREQUENCY) (DETECTOR)	EA	1	\$1,000.00	\$1,000.00
663-1-400	SIGNAL PRIORITY AND PREEMPTION SYSTEM (RELOCATE)	EA	1	\$4,000.00	\$4,000.00
663-1-500	SIGNAL PRIORITY AND PREEMPTION SYSTEM (ADJUST/MODIFY)	EA	10	\$1,000.00	\$10,000.00
663-1-600	SIGNAL PRIORITY AND PREEMPTION SYTEM (REMOVE)	EA	10	\$1,000.00	\$10,000.00
665-1-11	PEDESTRIAN DETECTOR (F&I) (STANDARD)	EA	100	\$300.00	\$30,000.00
665-1-12	PEDESTRIAN DETECTOR (F&I) (ASSCESSIBLE)	EA	10	\$6,000.00	\$60,000.00
665-1-30	PEDESTRIAN DETECTOR (INSTALL)	EA	100	\$100.00	\$10,000.00
665-1-40	PEDESTRIAN DETECTOR (RELOCATE)	EA	1	\$200.00	\$200.00
665-1-50	PEDESTRIAN DETECTOR (ADJUST/MODIFY)	EA	1	\$100.00	\$100.00
665-1-60	PEDESTRIAN DETECTOR (REMOVE-POLE/PEDESTAL TO REMAIN)	EA	1	\$50.00	\$50.00
670-4-1	INTERSECTION CONTROL BEACON CONTROLLER ASSEMBLY (F&I)	AS	10	\$2,000.00	\$20,000.00
670-5-110	TRAFFIC CONTROLLER ASSEMBLY (F&I) (NEMA) (NONE)	AS	100	\$24,000.00	\$2,400,000.00
670-5-112	TRAFFIC CONTROLLER ASSEMBLY (F&I) (NEMA) (2 PREEMPTION)	AS	100	\$24,000.00	\$2,400,000.00
670-5-142	TRAFFIC CONTROLLER ASSEMBLY (F&I) (2070) (2 PREEMPTION)	AS	100	\$25,000.00	\$2,500,000.00
670-5-152	TRAFFIC CONTROLLER ASSEMBLY (F&I) (ATC) (2 PREEMPTION)	AS	100	\$25,000.00	\$2,500,000.00
670-5-300	TRAFFIC CONTROLLER ASSEMBLY (INSTALL)	AS	10	\$5,000.00	\$50,000.00
670-5-400	TRAFFIC CONTROLLER ASSEMBLY (MODIFY)	AS	10	\$2,000.00	\$20,000.00
670-5-600	TRAFFIC CONTROLLER ASSEMBLY (REMOVE)	AS	100	\$1,000.00	\$100,000.00
671-2-11	TRAFFIC CONTROLLER (F&I) (NEMA)	EA	100	\$6,000.00	\$600,000.00
671-2-13	TRAFFIC CONTROLLER (F&I) (2070)	EA	100	\$7,000.00	\$700,000.00
671-2-30	TRAFFIC CONTROLLER (INSTALL)	EA	10	\$2,000.00	\$20,000.00
671-2-40	TRAFFIC CONTROLLER (MODIFY)	EA	10	\$1,000.00	\$10,000.00
671-2-50	TRAFFIC CONTROLLER (RELOCATE)	EA	10	\$1,500.00	\$15,000.00
676-1-114	TRAFFIC SIGNAL CONTROLLER CABINET (F&I) (WIRED) (NEMA, TYPE 4, 24"W X 46"H X 16"D)	EA	100	\$14,000.00	\$1,400,000.00
676-1-117	TRAFFIC SIGNAL CONTROLLER CABINET (F&I) (WIRED) (NEMA, TYPE 7, 44"W X 72"H X 24"D)	EA	100	\$28,000.00	\$2,800,000.00
676-1-300	TRAFFIC SIGNAL CONTROLLER CABINET (INSTALL)	EA	10	\$3,000.00	\$30,000.00
676-1-400	TRAFFIC SIGNAL CONTROLLER CABINET (RELOCATE)	EA	10	\$3,500.00	\$35,000.00
676-1-500	TRAFFIC SIGNAL CONTROLLER CABINET (ADJUST / MODIFY)	EA	100	\$1,000.00	\$100,000.00
676-1-600	TRAFFIC SIGNAL CONTROLLER CABINET (REMOVE)	EA	100	\$400.00	\$40,000.00
676-2-111	ITS CABINET (F&I) (POLE MOUNT) (336, 24"W X 36"H X 20"D)	EA	10	\$5,000.00	\$50,000.00
676-3-10	SMALL EQUIPMENT ENCLOSURE (F&I)	EA	10	\$1,000.00	\$10,000.00
678-1-104	CONTROLLER ACCESSORIES (F&I) (LOAD SWITCH)	EA	100	\$200.00	\$20,000.00
678-1-110	CONTROLLER ACCESSORIES (F&I) (TYPE 4, TIME SWITCH)	EA	100	\$600.00	\$60,000.00
678-1-112	CONTROLLER ACCESSORIES (F&I) (MASTER CLOCK UNIT)	EA	100	\$4,000.00	\$400,000.00
680-1-110	SYSTEM CONTROL EQUIPMENT (F&I) (ADAPTIVE SIGNAL CONTROL SYSTEM) (NEMA) (COMPLETE SYSTEM)	EA	100	\$44,000.00	\$4,400,000.00
680-1-111	SYSTEM CONTROL EQUIPMENT (F&I) (ADAPTIVE SIGNAL CONTROL SYSTEM) (NEMA) (CABINET EQUIPMENT)	EA	100	\$24,000.00	\$2,400,000.00

EXHIBIT B Updated: 5/25/16
Emergency Response Traffic Signal Contract
Contract Number: Z7041
District-Wide Traffic Operations

ITEM NUMBER	ITEM DESCRIPTION	UNITS	Quantity	UNIT PRICES	EXTENDED PRICE
680-1-112	SYSTEM CONTROL EQUIPMENT (F&I) (ADAPTIVE SIGNAL CONTROL SYSTEM) (NEMA) (ABOVE GROUND EQUIPMENT)	EA	100	\$20,000.00	\$2,000,000.00
680-1-300	SYSTEM CONTROL EQUIPMENT (INSTALL)	EA	10	\$4,000.00	\$40,000.00
680-1-400	SYSTEM CONTROL EQUIPMENT (RELOCATE)	EA	10	\$5,000.00	\$50,000.00
680-1-500	SYSTEM CONTROL EQUIPMENT (ADJUST / MODIFY)	EA	10	\$2,000.00	\$20,000.00
680-1-600	SYSTEM CONTROL EQUIPMENT (REMOVE)	EA	10	\$300.00	\$3,000.00
680-1-900	SYSTEM CONTROL EQUIPMENT (DIAGNOSTIC AND MISC REPAIR)	EA	10	\$1,000.00	\$10,000.00
682-1-11	CCTV CAMERA (F&I) (DOME ENCLOSURE, PRESSURIZED)	EA	10	\$9,000.00	\$90,000.00
682-1-12	CCTV CAMERA (F&I) (EXTERNAL ENCLOSURE, PRESSURIZED)	EA	10	\$10,000.00	\$100,000.00
682-1-13	CCTV CAMERA (F&I) (DOME ENCLOSURE, NON-PRESSURIZED)	EA	10	\$9,000.00	\$90,000.00
682-1-14	CCTV CAMERA (F&I) (EXTERNAL ENCLOSURE, NON-PRESSURIZED)	EA	10	\$10,000.00	\$100,000.00
682-1-50	CCTV CAMERA (ADJUST/MODIFY)	EA	10	\$1,000.00	\$10,000.00
682-1-70	CCTV CAMERA (REMOVE AND STOCKPILE)	EA	10	\$400.00	\$4,000.00
685-106	SYSTEM AUX. (UNINTERRUPTIBLE POWER SOURCE)(UPS)	EA	300	\$7,000.00	\$2,100,000.00
700-3501	SIGN PANEL, RELOCATE, UP TO 12 SF	EA	1000	\$400.00	\$400,000.00
700-3502	SIGN PANEL, RELOCATE, 12-20 SF	EA	1000	\$1,000.00	\$1,000,000.00
700-3601	SIGN PANEL, REMOVE, UP TO 12 SF	EA	1000	\$100.00	\$100,000.00
700-3602	SIGN PANEL, REMOVE, 12-20 SF	EA	1000	\$500.00	\$500,000.00
700-5-21	INTERNALLY ILLUMINATED ST. SIGN F&I UP TO 12 SF	EA	500	\$5,000.00	\$2,500,000.00
700-5-22	INTERNALLY ILLUMINATED ST. SIGN F&I 12 - 18 SF	EA	500	\$6,000.00	\$3,000,000.00
700-5-60	INTERNALLY ILLUMINATED ST. SIGN REMOVE	EA	500	\$500.00	\$250,000.00
				Total Bid	\$786,815,270.00

EXHIBIT B Updated: 5/25/16
Emergency Response Traffic Signal Contract
Contract Number: Z7041
District-Wide Traffic Operations

ITEM NUMBER	ITEM DESCRIPTION	UNITS	Quantity	UNIT PRICES	EXTENDED PRICE
102-76	ARROW BOARD / ADVANCE WARNING ARROW PANEL	ED	100	\$31.75	\$3,175.00
102-14	TRAFFIC CONTROL OFFICER	MH	50000	\$119.05	\$5,952,500.00
102-60	WORK ZONE SIGN	ED	1000	\$7.94	\$7,940.00
102-74-1	TEMPORARY BARRICADE-TYPES I,II,DI,VP DRUM, OR LCD	ED	5000	\$7.94	\$39,700.00
102-77	HIGH INENSITY FLASHING LIGHTS, TEMP, TYPE B	ED	100	\$7.94	\$794.00
102-99	PORTABLE CHANGEABLE MESSAGE SIGN, TEMPORARY	ED	200	\$158.73	\$31,746.00
630-2-11	CONDUIT (F&I) (OPEN TRENCH) (UNDERGROUND OR UNDER PAVEMENT)	LF	1000	\$10.16	\$10,160.00
630-2-12	CONDUIT (F&I) (DIRECTIONAL BORE)	LF	1000	\$47.62	\$47,620.00
630-2-14	CONDUIT (F&I)(ABOVE GROUND)	LF	100	\$25.41	\$2,541.00
630-2-15	CONDUIT (F&I)(BRIDGE MOUNTED)	LF	100	\$33.90	\$3,390.00
630-2-65	CONDUIT (REMOVE)	LF	100	\$8.46	\$846.00
632-7-1	SIGNAL CABLE (NEW OR RECONSTRUCTED INTERSECTION - FURNISH & INSTALL)	PI	200	\$10,005.40	\$2,001,080.00
632-7-2	SIGNAL CABLE (F&I) (REPAIR / REPLACE / OTHER)	LF	500000	\$6.78	\$3,390,000.00
632-7-4	SIGNAL CABLE (ADJUST)	PI	100	\$2,030.48	\$203,048.00
632-7-6	SIGNAL CABLE (REMOVE) (WITHIN INTERSECTION)	PI	200	\$2,030.48	\$406,096.00
632-7-7	SIGNAL CABLE (REMOVE) (OUTSIDE INTERSECTION)	LF	50000	\$1.69	\$84,500.00
633-1-111	FIBER OPTIC CABLE (F&I) (OVERHEAD) (2 TO 12 FIBERS)	LF	100	\$2.62	\$262.00
633-1-112	FIBER OPTIC CABLE (F&I) (OVERHEAD) (13 TO 48 FIBERS)	LF	100	\$3.10	\$310.00
633-1-113	FIBER OPTIC CABLE (F&I) (OVERHEAD) (49 TO 96 FIBERS)	LF	100	\$3.89	\$389.00
633-1-114	FIBER OPTIC CABLE (F&I) (OVERHEAD) (97 TO 144 FIBERS)	LF	10000	\$4.52	\$45,200.00
633-1-121	FIBER OPTIC CABLE (F&I) (UNDERGROUND) (2 TO 12 FIBERS)	LF	100	\$2.54	\$254.00
633-1-122	FIBER OPTIC CABLE (F&I) (UNDERGROUND) (13 TO 48 FIBERS)	LF	100	\$3.02	\$302.00
633-1-123	FIBER OPTIC CABLE (F&I) (UNDERGROUND) (49 TO 96 FIBERS)	LF	100	\$3.81	\$381.00
633-1-124	FIBER OPTIC CABLE (F&I) (UNDERGROUND) (97 TO 144 FIBERS)	LF	10000	\$4.44	\$44,400.00
633-1-310	FIBER OPTIC CABLE (INSTALL) (OVERHEAD)	LF	1000	\$1.98	\$1,980.00
633-1-320	FIBER OPTIC CABLE (INSTALL) (UNDERGROUND)	LF	1000	\$1.59	\$1,590.00
633-1-410	FIBER OPTIC CABLE (RELOCATE) (OVERHEAD)	LF	100	\$3.97	\$397.00
633-1-420	FIBER OPTIC CABLE (RELOCATE) (UNDERGROUND)	LF	100	\$2.38	\$238.00
633-1-610	FIBER OPTIC CABLE (REMOVE) (OVERHEAD)	LF	1000	\$1.59	\$1,590.00
633-1-620	FIBER OPTIC CABLE (REMOVE) (UNDERGROUND)	LF	1000	\$0.79	\$790.00
633-2-31	FIBER OPTIC CONNECTION (INSTALL) (SPLICE)	EA	1000	\$55.56	\$55,560.00
633-2-32	FIBER OPTIC CONNECTION (INSTALL) (TERMINATION)	EA	1000	\$119.05	\$119,050.00
633-3-11	FIBER OPTIC CONNECTION HARDWARE (F&I) (SPLICE ENCLOSURE)	EA	1000	\$1,071.43	\$1,071,430.00
633-3-12	FIBER OPTIC CONNECTION HARDWARE (F&I) (SPLICE TRAY)	EA	1000	\$87.30	\$87,300.00
633-3-13	FIBER OPTIC CONNECTION HARDWARE (F&I) (PRETERMINATED CONNECTOR ASSEMBLY)	EA	1000	\$71.43	\$71,430.00
633-3-14	FIBER OPTIC CONNECTION HARDWARE (F&I) (BUFFER TUBE FAN OUT KIT)	EA	300	\$119.05	\$35,715.00
633-3-15	FIBER OPTIC CONNECTION HARDWARE (F&I) (PATCH PANEL, PRETERMINATED)	EA	300	\$2,214.29	\$664,287.00
633-3-16	FIBER OPTIC CONNECTION HARDWARE (F&I) (PATCH PANEL, FIELD TERMINATED)	EA	300	\$1,547.62	\$464,286.00
633-3-17	FIBER OPTIC CONNECTION HARDWARE (F&I) (CONNECTOR PANEL)	EA	300	\$150.79	\$45,237.00
633-3-31	FIBER OPTIC CONNECTION HARDWARE (INSTALL) (SPLICE ENCLOSURE)	EA	300	\$595.24	\$178,572.00
633-3-32	FIBER OPTIC CONNECTION HARDWARE (INSTALL) (SPLICE TRAY)	EA	300	\$23.81	\$7,143.00

EXHIBIT B Updated: 5/25/16
Emergency Response Traffic Signal Contract
Contract Number: Z7041
District-Wide Traffic Operations

ITEM NUMBER	ITEM DESCRIPTION	UNITS	Quantity	UNIT PRICES	EXTENDED PRICE
633-3-33	FIBER OPTIC CONNECTION HARDWARE (INSTALL) (PRETERMINATED CONNECTOR ASSEMBLY)	EA	300	\$39.68	\$11,904.00
633-3-34	FIBER OPTIC CONNECTION HARDWARE (INSTALL) (BUFFER TUBE FAN OUT KIT)	EA	300	\$79.37	\$23,811.00
633-3-35	FIBER OPTIC CONNECTION HARDWARE (INSTALL) (PATCH PANEL, PRETERMINATED)	EA	300	\$912.70	\$273,810.00
633-3-36	FIBER OPTIC CONNECTION HARDWARE (INSTALL) (PATCH PANEL, FIELD TERMINATED)	EA	300	\$436.51	\$130,953.00
633-3-37	FIBER OPTIC CONNECTION HARDWARE (INSTALL) (CONNECTOR PANEL)	EA	300	\$15.87	\$4,761.00
633-3-41	FIBER OPTIC CONNECTION HARDWARE (RELOCATE) (SPLICE ENCLOSURE)	EA	10	\$436.51	\$4,365.10
633-3-42	FIBER OPTIC CONNECTION HARDWARE (RELOCATE) (SPLICE TRAY)	EA	10	\$39.68	\$396.80
633-3-43	FIBER OPTIC CONNECTION HARDWARE (RELOCATE) (PRETERMINATED CONNECTOR ASSEMBLY)	EA	10	\$55.56	\$555.60
633-3-44	FIBER OPTIC CONNECTION HARDWARE (RELOCATE) (BUFFER TUBE FAN OUT KIT)	EA	10	\$103.17	\$1,031.70
633-3-45	FIBER OPTIC CONNECTION HARDWARE (RELOCATE) (PATCH PANEL, PRETERMINATED)	EA	10	\$674.60	\$6,746.00
633-3-46	FIBER OPTIC CONNECTION HARDWARE (RELOCATE) (PATCH PANEL, FIELD TERMINATED)	EA	10	\$626.98	\$6,269.80
633-3-47	FIBER OPTIC CONNECTION HARDWARE (RELOCATE) (CONNECTOR PANEL)	EA	10	\$39.68	\$396.80
633-3-51	FIBER OPTIC CONNECTION HARDWARE (ADJUST/MODIFY) (SPLICE ENCLOSURE)	EA	20	\$515.87	\$10,317.40
633-3-52	FIBER OPTIC CONNECTION HARDWARE (ADJUST/MODIFY) (SPLICE TRAY)	EA	20	\$15.87	\$317.40
633-3-53	FIBER OPTIC CONNECTION HARDWARE (ADJUST/MODIFY) (PRETERMINATED CONNECTOR ASSEMBLY)	EA	20	\$55.56	\$1,111.20
633-3-54	FIBER OPTIC CONNECTION HARDWARE (ADJUST/MODIFY) (BUFFER TUBE FAN OUT KIT)	EA	20	\$79.37	\$1,587.40
633-3-55	FIBER OPTIC CONNECTION HARDWARE (ADJUST/MODIFY) (PATCH PANEL, PRETERMINATED)	EA	20	\$674.60	\$13,492.00
633-3-56	FIBER OPTIC CONNECTION HARDWARE (ADJUST/MODIFY) (PATCH PANEL, FIELD TERMINATED)	EA	20	\$674.60	\$13,492.00
633-3-57	FIBER OPTIC CONNECTION HARDWARE (ADJUST/MODIFY) (CONNECTOR PANEL)	EA	20	\$39.68	\$793.60
633-4-1	TWISTED PAIR CABLE (F&I)	LF	10,000	\$4.76	\$47,600.00
633-4-3	TWISTED PAIR CABLE (INSTALL)	LF	100	\$2.38	\$238.00
633-4-4	TWISTED PAIR CABLE (RELOCATE)	LF	100	\$3.57	\$357.00
633-4-6	TWISTED PAIR CABLE (REMOVE)	LF	1000	\$0.79	\$790.00
633-8-1	MULTI-CONDUCTOR COMMUNICATION CABLE (F&I)	LF	10000	\$5.16	\$51,600.00
633-8-2	MULTI-CONDUCTOR COMMUNICATION CABLE (FURNISH)	LF	100	\$3.17	\$317.00
633-8-3	MULTI-CONDUCTOR COMMUNICATION CABLE (INSTALL)	LF	100	\$1.83	\$183.00
633-8-4	MULTI-CONDUCTOR COMMUNICATION CABLE (RELOCATE)	LF	100	\$2.38	\$238.00
633-8-5	MULTI-CONDUCTOR COMMUNICATION CABLE (ADJUST/MODIFY)	LF	100	\$2.38	\$238.00
633-8-6	MULTI-CONDUCTOR COMMUNICATION CABLE (REMOVE)	LF	1000	\$0.79	\$790.00
634-4-141	SPAN WIRE ASSEMBLY (F&I)(SINGLE POINT) (PERPENDICULAR)	PI	100	\$2,881.59	\$288,159.00
634-4-142	SPAN WIRE ASSEMBLY (F&I)(SINGLE POINT) (DIAGONAL)	PI	100	\$4,068.57	\$406,857.00
634-4-143	SPAN WIRE ASSEMBLY (F&I)(SINGLE POINT) (BOX OR DROP BOX)	PI	100	\$8,137.14	\$813,714.00
634-4-144	SPAN WIRE ASSEMBLY (F&I) (SINGLE POINT) (OTHER TYPE)	PI	100	\$6,270.79	\$627,079.00

EXHIBIT B Updated: 5/25/16
Emergency Response Traffic Signal Contract
Contract Number: Z7041
District-Wide Traffic Operations

ITEM NUMBER	ITEM DESCRIPTION	UNITS	Quantity	UNIT PRICES	EXTENDED PRICE
634-4-151	SPAN WIRE ASSEMBLY (F&I) (TWO POINT) (PERPENDICULAR)	PI	100	\$4,747.94	\$474,794.00
634-4-152	SPAN WIRE ASSEMBLY (F&I) (TWO POINT) (DIAGONAL)	PI	100	\$4,747.94	\$474,794.00
634-4-153	SPAN WIRE ASSEMBLY (F&I) (TWO POINT) (BOX)	PI	100	\$9,831.75	\$983,175.00
634-4-154	SPAN WIRE ASSEMBLY (F&I) (TWO POINT) (OTHER TYPE)	PI	100	\$9,831.75	\$983,175.00
634-4-341	SPAN WIRE ASSEMBLY (INSTALL) (SINGLE POINT ATTACH) (PERPENDICULAR)	PI	50	\$1,522.86	\$76,143.00
634-4-342	SPAN WIRE ASSEMBLY (INSTALL) (SINGLE POINT ATTACH) (DIAGONAL)	PI	50	\$1,522.86	\$76,143.00
634-4-343	SPAN WIRE ASSEMBLY (INSTALL) (SINGLE POINT) (BOX SPANS)	PI	50	\$3,045.71	\$152,285.50
634-4-344	SPAN WIRE ASSEMBLY (INSTALL) (SINGLE POINT ATTACH) (OTHER SPAN TYPE)	PI	50	\$3,045.71	\$152,285.50
634-4-351	SPAN WIRE ASSEMBLY (INSTALL) (TWO POINT) (PERPENDICULAR)	PI	50	\$2,707.30	\$135,365.00
634-4-352	SPAN WIRE ASSEMBLY (INSTALL) (TWO POINT) (DIAGONAL)	PI	50	\$2,707.30	\$135,365.00
634-4-353	SPAN WIRE ASSEMBLY (INSTALL) (TWO POINT) (BOX SPANS)	PI	50	\$5,076.19	\$253,809.50
634-4-354	SPAN WIRE ASSEMBLY (INSTALL) (TWO POINT) (OTHER SPAN TYPE)	PI	50	\$5,076.19	\$253,809.50
634-4-400	SPAN WIRE ASSEMBLY (ADJUST)	PI	100	\$2,030.48	\$203,048.00
634-4-600	SPAN WIRE ASSEMBLY (REMOVE)	PI	100	\$1,015.24	\$101,524.00
634-5-1	FIBERGLASS INSULATOR (FURNISH & INSTALL)	LF	2000	\$50.86	\$101,720.00
634-6-1	MESSENGER WIRE (FURNISH & INSTALL)	LF	3000	\$7.63	\$22,890.00
635-2-11	PULL & SPLICE BOX (F&I) (17" X 30" COVER SIZE)	EA	200	\$974.05	\$194,810.00
635-2-12	PULL & SPLICE BOX (F&I) (24" X 36" COVER SIZE)	EA	10	\$1,694.60	\$16,946.00
635-2-13	PULL & SPLICE BOX (F&I) (36" X 60" COVER SIZE)	EA	10	\$2,848.25	\$28,482.50
635-2-30	PULL & SPLICE BOX (INSTALL)	EA	10	\$676.83	\$6,768.30
635-2-40	PULL & SPLICE BOX (RELOCATE)	EA	10	\$1,353.65	\$13,536.50
635-2-50	PULL & SPLICE BOX (REPAIR)	EA	10	\$1,015.24	\$10,152.40
635-3-11	JUNCTION BOX (F&I) (AERIAL)	EA	10	\$593.17	\$5,931.70
635-3-12	JUNCTION BOX (F&I) (MOUNTED)	EA	10	\$932.22	\$9,322.20
635-3-13	JUNCTION BOX (F&I) (EMBEDDED)	EA	10	\$508.25	\$5,082.50
635-3-30	JUNCTION BOX (INSTALL)	EA	10	\$338.41	\$3,384.10
635-3-40	JUNCTION BOX (RELOCATE)	EA	10	\$676.83	\$6,768.30
639-1-111	ELECTRICAL POWER SERVICE (F&I) (OVERHEAD) (METER FURNISHED BY POWER COMPANY)	AS	100	\$3,304.29	\$330,429.00
639-1-121	ELECTRICAL POWER SERVICE (F&I) (UNDERGROUND) (METER FURNISHED BY POWER COMPANY)	AS	20	\$3,643.97	\$72,879.40
639-1-410	ELECTRICAL POWER SERVICE (RELOCATE) (OVERHEAD)	AS	20	\$2,962.70	\$59,254.00
639-1-420	ELECTRICAL POWER SERVICE (RELOCATE) (UNDERGROUND)	AS	20	\$2,962.70	\$59,254.00
639-1-610	ELECTRICAL POWER SERVICE (REMOVE) (OVERHEAD)	AS	50	\$507.62	\$25,381.00
639-1-620	ELECTRICAL POWER SERVICE (REMOVE) (UNDERGROUND)	AS	20	\$507.62	\$10,152.40
639-2-1	ELECTRICAL SERVICE WIRE (F&I)	LF	1000	\$10.17	\$10,170.00
639-2-4	ELECTRICAL SERVICE WIRE (RELOCATE)	LF	1000	\$4.23	\$4,230.00
639-2-6	ELECTRICAL SERVICE WIRE (REMOVE)	LF	1000	\$0.85	\$850.00
639-3-11	ELECTRICAL SERVICE DISCONNECT(F&I) (POLE MOUNT)	EA	50	\$1,441.11	\$72,055.50
639-3-12	ELECTRICAL SERVICE DISCONNECT(F&I) (CABINET)	EA	50	\$1,441.11	\$72,055.50
639-3-60	ELECTRICAL SERVICE DISCONNECT (F&I) (REMOVE)	EA	50	\$253.81	\$12,690.50
639-3-61	ELECTRICAL SERVICE DISCONNECT (REMOVE) (POLE)	EA	50	\$507.62	\$25,381.00
639-3-62	ELECTRICAL SERVICE DISCONNECT (REMOVE) (CABINET)	EA	50	\$507.62	\$25,381.00
639-4-3	INSTALL FDOT EMERGENCY GENERATOR-PORTABLE (RETROFIT ALREADY IN PLACE)	EA	100	\$1,015.24	\$101,524.00

EXHIBIT B Updated: 5/25/16
Emergency Response Traffic Signal Contract
Contract Number: Z7041
District-Wide Traffic Operations

ITEM NUMBER	ITEM DESCRIPTION	UNITS	Quantity	UNIT PRICES	EXTENDED PRICE
639-4-4	INSTALL FDOT EMERGENCY GENERATOR-PORTABLE AND RETROFIT (RETROFIT FURNISHED BY CONTRACTOR)	EA	100	\$1,353.65	\$135,365.00
639-4-5	EMERGENCY GENERATOR-PORTABLE, MONITOR AND	HR	100	\$118.57	\$11,857.00
641-2-11	PREST CONC POLE (F&I)(TYPE P-II PEDESTAL)	EA	100	\$1,833.87	\$183,387.00
641-2-12	PREST CONC POLE (F&I)(TYPE P-II SVC POLE)	EA	100	\$1,781.22	\$178,122.00
641-2-13	PREST CONC POLE (F&I)(TYPE P-III)	EA	100	\$5,435.79	\$543,579.00
641-2-14	PREST CONC POLE (F&I)(TYPE P-IV)	EA	100	\$11,739.89	\$1,173,989.00
641-2-15	PREST CONC POLE (F&I)(TYPE P-V)	EA	100	\$7,600.86	\$760,086.00
641-2-16	PREST CONC POLE (F&I)(TYPE P-VI)	EA	500	\$14,197.29	\$7,098,645.00
641-2-17	PREST CONC POLE (F&I)(TYPE P-VII)	EA	500	\$16,145.16	\$8,072,580.00
641-2-18	PREST CONC POLE (F&I)(TYPE P-VIII)	EA	500	\$17,789.22	\$8,894,610.00
641-2-19	PREST CONC POLE (F&I)(CUSTOM DESIGN)	EA	500	\$21,242.01	\$10,621,005.00
641-2-30	PREST CONC POLE (INSTALL)	EA	50	\$11,703.81	\$585,190.50
641-2-60	PREST CONC POLE (COMPLETE/DEEP REMOVAL-PEDESTAL SERVICE POLE)	EA	50	\$507.62	\$25,381.00
641-2-70	PREST CONC POLE (SHALLOW REMOVAL-POLES 30' AND GREATER)	EA	100	\$6,276.51	\$627,651.00
641-2-80	PREST CONC POLE (COMPLETE/DEEP REMOVAL-POLES 30' AND GREATER)	EA	50	\$9,673.33	\$483,666.50
643-1	STRAIN POLES (WOOD) (GUYING)	EA	100	\$1,779.52	\$177,952.00
643-130	STRAIN POLES WOOD(FURNISH & INSTALL)(30')	EA	1	\$3,728.89	\$3,728.89
643-140	STRAIN POLES WOOD(FURNISH & INSTALL)(40')	EA	10	\$4,578.10	\$45,781.00
643-150	STRAIN POLES WOOD(FURNISH & INSTALL)(50')	EA	100	\$6,104.13	\$610,413.00
643-400	STRAIN POLES WOOD (RELOCATE)	EA	50	\$2,707.30	\$135,365.00
643-600	STRAIN POLES WOOD (REMOVE)	EA	50	\$676.83	\$33,841.50
646-1-11	ALUMINUM SIGNALS POLE (F&I) (PEDESTAL)	EA	50	\$1,179.56	\$58,978.00
646-1-12	ALUMINUM SIGNALS POLE (F&I) (PEDESTRIAN DETECTOR POST)	EA	50	\$1,140.49	\$57,024.50
646-1-30	ALUMINUM SIGNALS POLE (INSTALL)	EA	50	\$3,053.33	\$152,666.50
646-1-40	ALUMINUM SIGNALS POLE (RELOCATE)	EA	50	\$3,389.21	\$169,460.50
646-1-60	ALUMINUM SIGNALS POLE (REMOVE)	EA	50	\$761.43	\$38,071.50
649-1-10	STEEL STRAIN POLE (F&I) (PEDESTAL)	EA	10	\$2,325.14	\$23,251.40
649-1-11	STEEL STRAIN POLE(F&I)(TYPE PS-IV)	EA	500	\$31,223.57	\$15,611,785.00
649-1-12	STEEL STRAIN POLE(F&I)(TYPE PS-V)	EA	500	\$35,764.41	\$17,882,205.00
649-1-13	STEEL STRAIN POLE(F&I)(TYPE PS-VI)	EA	500	\$37,094.27	\$18,547,135.00
649-1-14	STEEL STRAIN POLE(F&I)(TYPE PS-VII)	EA	500	\$38,767.21	\$19,383,605.00
649-1-15	STEEL STRAIN POLE(F&I)(TYPE PS-VIII)	EA	500	\$39,922.13	\$19,961,065.00
649-1-16	STEEL STRAIN POLE(F&I)(TYPE PS-IX)	EA	500	\$42,491.83	\$21,245,915.00
649-1-17	STEEL STRAIN POLE(F&I)(TYPE PS-X)	EA	500	\$43,763.94	\$21,881,970.00
649-1-30	STEEL STRAIN POLE (INSTALL)	EA	50	\$23,342.22	\$1,167,111.00
649-1-61	STEEL STRAIN POLE (COMPLETE REMOVAL) (PEDESTAL OR SERVICE POLE)	EA	100	\$1,015.24	\$101,524.00
649-1-62	STEEL STRAIN POLE (REMOVE) (PS POLE) (FOUNDATION REMAINS)	EA	100	\$2,030.48	\$203,048.00
649-1-63	STEEL STRAIN POLE (SHALLOW REMOVAL) (BOLT ON ATTACHMENT)	EA	100	\$5,251.75	\$525,175.00
649-1-65	STEEL STRAIN POLE (DEEP REMOVAL) (BOLT ON ATTACHMENT)	EA	100	\$7,291.75	\$729,175.00
649-31-201	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(36')	EA	10	\$37,198.60	\$371,986.00
649-31-202	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(46')	EA	10	\$40,228.57	\$402,285.70
649-31-203	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(60')	EA	500	\$48,679.87	\$24,339,935.00
649-31-204	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(70.5')	EA	500	\$50,965.94	\$25,482,970.00
649-31-205	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(78')	EA	500	\$50,104.84	\$25,052,420.00
649-31-206	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/ LUM(36')	EA	10	\$39,547.51	\$395,475.10
649-31-207	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/ LUM(46')	EA	10	\$43,734.10	\$437,341.00

EXHIBIT B Updated: 5/25/16
Emergency Response Traffic Signal Contract
Contract Number: Z7041
District-Wide Traffic Operations

ITEM NUMBER	ITEM DESCRIPTION	UNITS	Quantity	UNIT PRICES	EXTENDED PRICE
649-31-208	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/ LUM(60')	EA	500	\$50,889.51	\$25,444,755.00
649-31-209	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(70.5')	EA	500	\$54,439.19	\$27,219,595.00
649-31-210	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(36-36)	EA	10	\$44,037.70	\$440,377.00
649-31-211	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(36-46)	EA	10	\$47,874.41	\$478,744.10
649-31-212	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(36-60)	EA	500	\$53,210.83	\$26,605,415.00
649-31-213	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(36-70.5)	EA	500	\$60,728.00	\$30,364,000.00
649-31-214	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(46-46)	EA	10	\$58,402.87	\$584,028.70
649-31-215	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(46-60)	EA	500	\$60,761.97	\$30,380,985.00
649-31-216	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(46-70.5)	EA	500	\$62,944.43	\$31,472,215.00
649-31-217	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(60-60)	EA	500	\$62,833.29	\$31,416,645.00
649-31-218	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(60-70.5)	EA	500	\$65,067.44	\$32,533,720.00
649-31-219	M/ARM (F&I)(DOUBLE ARM W/O LUM(70.5-70.5)	EA	500	\$68,165.35	\$34,082,675.00
649-31-999	M/ARM (F&I) (CUSTOM WIND SPEED) (CUSTOM LENGTH)	EA	200	\$75,179.79	\$15,035,958.00
649-32-201	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(36')	EA	10	\$18,150.98	\$181,509.80
649-32-202	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(46')	EA	10	\$21,180.95	\$211,809.50
649-32-203	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(60')	EA	500	\$29,632.25	\$14,816,125.00
649-32-204	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(70.5')	EA	500	\$30,138.79	\$15,069,395.00
649-32-205	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(78')	EA	500	\$31,057.22	\$15,528,610.00
649-32-206	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/ LUM(36')	EA	10	\$20,499.89	\$204,998.90
649-32-207	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/ LUM(46')	EA	10	\$24,686.48	\$246,864.80
649-32-208	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/ LUM(60')	EA	500	\$31,841.89	\$15,920,945.00
649-32-209	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(70.5')	EA	500	\$35,391.57	\$17,695,785.00
649-32-210	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(36-36)	EA	10	\$24,959.51	\$249,595.10
649-32-211	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(36-46)	EA	10	\$28,826.79	\$288,267.90
649-32-212	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(36-60)	EA	500	\$34,163.21	\$17,081,605.00
649-32-213	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(36-70.5)	EA	500	\$41,680.38	\$20,840,190.00
649-32-214	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(46-46)	EA	10	\$39,355.25	\$393,552.50
649-32-215	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(46-60)	EA	500	\$41,714.35	\$20,857,175.00
649-32-216	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(46-70.5)	EA	500	\$43,896.81	\$21,948,405.00
649-32-217	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(60-60)	EA	500	\$43,835.67	\$21,917,835.00
649-32-218	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(60-70.5)	EA	500	\$46,019.83	\$23,009,915.00
649-32-219	M/ARM (F&I)(DOUBLE ARM W/O LUM(70.5-70.5)	EA	500	\$49,117.73	\$24,558,865.00
649-33-000	STEEL MAST ARM (INSTALL)	EA	10	\$23,872.86	\$238,728.60
649-34-000	STEEL MAST ARM (RELOCATE)	EA	10	\$26,918.57	\$269,185.70
649-35-201	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(36')	EA	10	\$8,534.68	\$85,346.80
649-35-202	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(46')	EA	10	\$9,898.17	\$98,981.70
649-35-203	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(60')	EA	500	\$13,701.25	\$6,850,625.00
649-35-204	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(70.5')	EA	500	\$14,729.98	\$7,364,990.00
649-35-205	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(78')	EA	500	\$14,342.49	\$7,171,245.00

EXHIBIT B Updated: 5/25/16
Emergency Response Traffic Signal Contract
Contract Number: Z7041
District-Wide Traffic Operations

ITEM NUMBER	ITEM DESCRIPTION	UNITS	Quantity	UNIT PRICES	EXTENDED PRICE
649-35-206	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/ LUM(36')	EA	10	\$9,591.69	\$95,916.90
649-35-207	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/ LUM(46')	EA	10	\$11,475.65	\$114,756.50
649-35-208	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/ LUM(60')	EA	500	\$14,695.59	\$7,347,795.00
649-35-209	M/ARM (F&I) (WIND SPEED 130) (SGL ARM W/O LUM(70.5')	EA	500	\$16,292.95	\$8,146,475.00
649-35-210	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(36-36)	EA	10	\$12,156.90	\$121,569.00
649-35-211	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(36-46)	EA	10	\$13,897.18	\$138,971.80
649-35-212	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(36-60)	EA	500	\$16,298.56	\$8,149,280.00
649-35-213	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(36-70.5)	EA	500	\$19,681.29	\$9,840,645.00
649-35-214	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(46-46)	EA	10	\$18,634.98	\$186,349.80
649-35-215	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(46-60)	EA	500	\$19,696.58	\$9,848,290.00
649-35-216	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(46-70.5)	EA	500	\$20,678.68	\$10,339,340.00
649-35-217	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(60-60)	EA	500	\$20,651.17	\$10,325,585.00
649-35-218	M/ARM (F&I) (WIND SPEED 130) (DOUBLE ARM W/O LUM(60-70.5)	EA	500	\$21,634.04	\$10,817,020.00
649-35-219	M/ARM (F&I)(DOUBLE ARM W/O LUM(70.5-70.5)	EA	500	\$23,028.10	\$11,514,050.00
649-36-100	STEEL MAST ARM (REMOVE) (FOUNDATION REMAINS)	EA	100	\$2,030.48	\$203,048.00
649-36-300	STEEL MAST ARM (SHALLOW REMOVAL) (BOLT ON ATTACHMENT)	EA	100	\$4,744.13	\$474,413.00
649-36-500	STEEL MAST ARM (DEEP REMOVAL) (BOLT ON ATTACHMENT)	EA	100	\$7,291.75	\$729,175.00
649-36-700	MAST ARM (REMOVE ARM AND ATTACHMENTS - POLE REMAINS)	EA	100	\$1,015.24	\$101,524.00
649-38-000	STEEL MAST ARM (REPAIR)	EA	500	\$4,068.57	\$2,034,285.00
650-1-102	SIGNAL AUX (REPAIR/REPLACE/RETROFIT) (F&I) (BACKPLATE-BLACK WITH REFLECTIVE BORDER)	EA	1000	\$508.57	\$508,570.00
650-1-105	SIGNAL AUX (REPAIR/REPLACE/RETROFIT) (F&I) (TUNNEL VISOR)	EA	1000	\$254.13	\$254,130.00
650-1-106	SIGNAL AUX (REPAIR/REPLACE/RETROFIT) (F&I) (12' LED MODULE-STANDARD)	EA	5000	\$568.02	\$2,840,100.00
650-1-11	TRAFFIC SIGNAL (F&I) (ALUMINUM) (1 SECT, 1 WAY)	AS	10	\$979.35	\$9,793.50
650-1-12	TRAFFIC SIGNAL (F&I) (ALUMINUM) (1 SECT, 2-4 WAY)	AS	10	\$2,238.30	\$22,383.00
650-1-13	TRAFFIC SIGNAL (F&I) (ALUMINUM) (2 SECT, 1-2 WAY)	AS	10	\$1,917.62	\$19,176.20
650-1-14	TRAFFIC SIGNAL (F&I) (ALUMINUM) (3 SECT, 1 WAY)	AS	3000	\$1,398.22	\$4,194,660.00
650-1-15	TRAFFIC SIGNAL (F&I) (ALUMINUM) (3 SECT, 2-4 WAY)	AS	1000	\$4,221.84	\$4,221,840.00
650-1-16	TRAFFIC SIGNAL (F&I) (ALUMINUM) (4 SECT, 1 WAY)	AS	1000	\$1,713.81	\$1,713,810.00
650-1-17	TRAFFIC SIGNAL (F&I) (ALUMINUM) (4 SECT, 2-4 WAY)	AS	10	\$5,060.86	\$50,608.60
650-1-18	TRAFFIC SIGNAL (F&I) (ALUMINUM) (5 SECT, 1 WAY) (STRAIGHT)	AS	200	\$1,828.98	\$365,796.00
650-1-19	TRAFFIC SIGNAL (F&I) (ALUMINUM) (5 SECT, 1 WAY) (CLUSTER)	AS	500	\$2,305.92	\$1,152,960.00
650-1-302	SIGNAL AUX (REPAIR/REPLACE/RETROFIT) (INSTALL) (BACKPLATE-BLACK WITH REFLECTIVE BORDER)	EA	1000	\$253.81	\$253,810.00
650-1-305	SIGNAL AUX (REPAIR/REPLACE/RETROFIT) (INSTALL) (TUNNEL VISOR)	EA	1000	\$169.21	\$169,210.00
650-1-306	SIGNAL AUX (REPAIR/REPLACE/RETROFIT) (INSTALL) (12" LED MODULE-STANDARD)	EA	1000	\$253.81	\$253,810.00
650-1-41	TRAFFIC SIGNAL (F&I) (PROGRAMMABLE) (1 SECT, 1 WAY)	AS	10	\$2,886.03	\$28,860.30

EXHIBIT B Updated: 5/25/16
Emergency Response Traffic Signal Contract
Contract Number: Z7041
District-Wide Traffic Operations

ITEM NUMBER	ITEM DESCRIPTION	UNITS	Quantity	UNIT PRICES	EXTENDED PRICE
650-1-42	TRAFFIC SIGNAL (F&I) (PROGRAMMABLE) (1 SECT, 2-4 WAY)	AS	10	\$7,867.06	\$78,670.60
650-1-43	TRAFFIC SIGNAL (F&I) (PROGRAMMABLE) (2 SECT, 1-2 WAY)	AS	10	\$7,198.73	\$71,987.30
650-1-44	TRAFFIC SIGNAL (F&I) (PROGRAMMABLE) (3 SECT, 1 WAY)	AS	100	\$5,772.06	\$577,206.00
650-1-45	TRAFFIC SIGNAL (F&I) (PROGRAMMABLE) (3 SECT, 2-4 WAY)	AS	50	\$22,411.43	\$1,120,571.50
650-1-46	TRAFFIC SIGNAL (F&I) (PROGRAMMABLE) (4 SECT, 1 WAY)	AS	50	\$7,283.33	\$364,166.50
650-1-47	TRAFFIC SIGNAL (F&I) (PROGRAMMABLE) (4 SECT, 2-4 WAY)	AS	10	\$22,954.92	\$229,549.20
650-1-48	TRAFFIC SIGNAL (F&I) (PROGRAMMABLE) (5 SECT, 1 WAY) (STRAIGHT)	AS	20	\$8,769.13	\$175,382.60
650-1-49	TRAFFIC SIGNAL (F&I) (PROGRAMMABLE) (5 SECT, 1 WAY) (CLUSTER)	AS	20	\$9,328.97	\$186,579.40
650-1-50	TRAFFIC SIGNAL (INSTALL)	AS	1000	\$507.62	\$507,620.00
650-1-60	TRAFFIC SIGNAL (REMOVE)	AS	10000	\$253.81	\$2,538,100.00
650-1-70	TRAFFIC SIGNAL (RELOCATE)	AS	10	\$338.41	\$3,384.10
653-1-11	PEDESTRIAN SIGNAL (F&I) (LED COUNTDOWN) (1 WAY)	AS	5000	\$1,027.65	\$5,138,250.00
653-1-12	PEDESTRIAN SIGNAL (F&I) (LED COUNTDOWN) (2 WAY)	AS	5000	\$1,875.59	\$9,377,950.00
653-1-30	PEDESTRIAN SIGNAL (INSTALL)	AS	1000	\$423.02	\$423,020.00
653-1-40	PEDESTRIAN SIGNAL (RELOCATE)	AS	100	\$67.68	\$6,768.00
653-1-60	PEDESTRIAN SIGNAL (REMOVE) (POLE TO REMAIN)	AS	1000	\$169.21	\$169,210.00
654-2-11	RECTANGULAR RAPID FLASHING BEACON (F&I) (AC POWERED) (COMPLETE ASSEMBLY) (SINGLE DIRECTION)	AS	10	\$7,974.92	\$79,749.20
654-2-12	RECTANGULAR RAPID FLASHING BEACON (F&I) (AC POWERED) (COMPLETE ASSEMBLY) (BACK TO BACK)	AS	10	\$8,824.13	\$88,241.30
654-2-14	RECTANGULAR RAPID FLASHING BEACON (F&I) (AC POWERED) (SIGNS AND RRFB UNIT)	EA	10	\$3,562.86	\$35,628.60
654-2-21	RECTANGULAR RAPID FLASHING BEACON (F&I) (SOLAR) (COMPLETE ASSEMBLY) (SINGLE DIRECTION)	AS	100	\$7,974.92	\$797,492.00
654-2-22	RECTANGULAR RAPID FLASHING BEACON (F&I) (SOLAR) (COMPLETE ASSEMBLY) (BACK TO BACK)	AS	100	\$8,781.67	\$878,167.00
654-2-24	RECTANGULAR RAPID FLASHING BEACON (F&I) (SOLAR) (SIGNS AND RRFB UNIT)	EA	100	\$6,025.56	\$602,556.00
654-2-30	RECTANGULAR RAPID FLASHING BEACON (INSTALL)	AS	10	\$2,030.48	\$20,304.80
654-2-40	RECTANGULAR RAPID FLASHING BEACON (RELOCATE)	AS	10	\$2,707.30	\$27,073.00
654-2-50	RECTANGULAR RAPID FLASHING BEACON (ADJUST/MODIFY)	AS	10	\$1,015.24	\$10,152.40
654-2-60	RECTANGULAR RAPID FLASHING BEACON (REMOVE)	AS	10	\$1,015.24	\$10,152.40
654-3-10	PEDESTRIAN HYBRID BEACON ASSEMBLY (F&I) (COMPLETE ASSEMBLY)	AS	10	\$1,848.73	\$18,487.30
654-3-30	PEDESTRIAN HYBRID BEACON ASSEMBLY (INSTALL)	AS	10	\$338.41	\$3,384.10
654-3-50	PEDESTRIAN HYBRID BEACON ASSEMBLY (ADJUST/ MODIFY)	AS	10	\$338.41	\$3,384.10
654-3-60	PEDESTRIAN HYBRID BEACON ASSEMBLY (REMOVE)	AS	10	\$169.21	\$1,692.10
659-1-110	MAST ARM, SPAN WIRE, AND POLE MOUNTING ASSEMBLIES (REPAIR/REPLACE/RETROFIT) (F&I) (MAST ARM HANGER)	EA	10	\$678.10	\$6,781.00
659-1-120	MAST ARM, SPAN WIRE, AND POLE MOUNTING ASSEMBLIES (REPAIR/REPLACE/RETROFIT) (F&I) (SPAN WIRE HANGER)	EA	10	\$847.94	\$8,479.40
659-1-310	MAST ARM, SPAN WIRE AND POLE MOUNTING ASSEMBLIES (REPAIR/REPLACE/RETROFIT) (INSTALL) (MAST ARM HANGER)	EA	10	\$542.22	\$5,422.20
659-1-320	MAST ARM, SPAN WIRE AND POLE MOUNTING ASSEMBLIES	EA	10	\$338.41	\$3,384.10
660-1-101	LOOP DET. INDUCT. (F&I)(TYPE 1, 1 CHAN., RELAY OUTPUT, SHELF MOUNTED)	EA	1000	\$230.67	\$230,670.00

EXHIBIT B Updated: 5/25/16
Emergency Response Traffic Signal Contract
Contract Number: Z7041
District-Wide Traffic Operations

ITEM NUMBER	ITEM DESCRIPTION	UNITS	Quantity	UNIT PRICES	EXTENDED PRICE
660-1-102	LOOP DET. INDUCT. (F&I)(TYPE 2, 1 CHAN., RELAY OUTPUT, SHELF MOUNTED, TIME DELAY)	EA	1000	\$278.22	\$278,220.00
660-1-103	LOOP DET. INDUCT. (F&I)(TYPE 3, 1 CHAN., SOLID STATE, SHELF MOUNTED, TIME DELAY)	EA	1	\$230.67	\$230.67
660-1-104	LOOP DET. INDUCT. (F&I)(TYPE 4, 1 CHAN., SOLID STATE, SHELF MOUNTED, TIME DELAY)	EA	1000	\$278.22	\$278,220.00
660-1-105	LOOP DET. INDUCT. (F&I)(TYPE 5, 2 CHAN., SOID STATE, SHELF MOUNTED)	EA	1	\$424.29	\$424.29
660-1-106	LOOP DET. INDUCT. (F&I)(TYPE 6, 2 CHAN., SOLID STATE, SHELF MOUNTED, TIME DELAY)	EA	1	\$424.29	\$424.29
660-1-107	LOOP DET. INDUCT. (F&I)(TYPE 7, 4 CHAN., SOLID STATE, SHELF MOUNTED)	EA	1	\$594.13	\$594.13
660-1-108	LOOP DET. INDUCT. (F&I)(TYPE 8, 4 CHAN., SOLID STATE, SHELF MOUNTED, TIME DELAY)	EA	1000	\$594.13	\$594,130.00
660-1-109	LOOP DET. INDUCT. (F&I)(TYPE 9, 2 CHAN., SOLID STATE, RACK MOUNTED)	EA	1	\$240.86	\$240.86
660-1-110	LOOP DET. INDUCT. (F&I)(TYPE 10, 2 CHAN., SOLID STATE, RACK MOUNTED, TIME DELAY)	EA	1	\$303.70	\$303.70
660-1-111	LOOP DET. INDUCT. (F&I)(TYPE 11, 4 CHAN., SOLID STATE, RACK MOUNTED)	EA	1	\$534.68	\$534.68
660-1-112	LOOP DET. INDUCT. (F&I)(TYPE 12, 4 CHAN., SOLID STATE, RACK MOUNTED, TIME DELAY)	EA	1	\$645.08	\$645.08
660-1-300	LOOP DET. INDUCT. (INSTALL)	EA	100	\$84.60	\$8,460.00
660-1-400	LOOP DET. INDUCT. (RELOCATE)	EA	1	\$169.21	\$169.21
660-1-600	LOOP DET. INDUCT. (REMOVE)	EA	1	\$42.30	\$42.30
660-2-101	LOOP ASSEMBLY (F&I) (TYPE A)	AS	1000	\$1,556.03	\$1,556,030.00
660-2-102	LOOP ASSEMBLY (F&I) (TYPE B)	AS	1000	\$1,566.51	\$1,566,510.00
660-2-103	LOOP ASSEMBLY (F&I) (TYPE C)	AS	1	\$1,556.03	\$1,556.03
660-2-104	LOOP ASSEMBLY (F&I) (TYPE D)	AS	1	\$1,556.03	\$1,556.03
660-2-105	LOOP ASSEMBLY (F&I) (TYPE E)	AS	1	\$1,397.30	\$1,397.30
660-2-106	LOOP ASSEMBLY (F&I) (TYPE F)	AS	1000	\$1,714.76	\$1,714,760.00
660-2-107	LOOP ASSEMBLY (F&I) (TYPE G)	AS	1	\$2,667.14	\$2,667.14
660-2-108	LOOP ASSEMBLY (F&I) (TYPE H)	AS	1	\$1,556.03	\$1,556.03
660-3-11	VEHICLE DETECTION SYSTEM - MICROWAVE (F&I) (CABINET EQUIPMENT)	EA	10	\$3,642.86	\$36,428.60
660-3-12	VEHICLE DETECTION SYSTEM - MICROWAVE (F&I) (ABOVE GROUND EQUIPMENT)	EA	10	\$17,134.92	\$171,349.20
660-3-31	VEHICLE DETECTION SYSTEM - MICROWAVE (INSTALL) (CABINET EQUIPMENT)	EA	10	\$833.33	\$8,333.30
660-3-32	VEHICLE DETECTION SYSTEM - MICROWAVE (INSTALL) (ABOVE GROUND EQUIPMENT)	EA	10	\$4,761.90	\$47,619.00
660-3-40	VEHICLE DETECTION SYSTEM - MICROWAVE (RELOCATE) (COMPLETE SYSTEM)	EA	10	\$6,785.71	\$67,857.10
660-3-41	VEHICLE DETECTION SYSTEM - MICROWAVE (RELOCATE) (CABINET EQUIPMENT)	EA	10	\$1,103.17	\$11,031.70
660-3-42	VEHICLE DETECTION SYSTEM - MICROWAVE (RELOCATE) (ABOVE GROUND EQUIPMENT)	EA	10	\$3,452.38	\$34,523.80
660-3-50	VEHICLE DETECTION SYSTEM - MICROWAVE (ADJUST/MODIFY) (COMPLETE SYSTEM)	EA	10	\$4,087.30	\$40,873.00
660-3-51	VEHICLE DETECTION SYSTEM - MICROWAVE (ADJUST/MODIFY) (CABINET EQUIPMENT)	EA	10	\$515.87	\$5,158.70
660-3-52	VEHICLE DETECTION SYSTEM - MICROWAVE (ADJUST/MODIFY) (ABOVE GROUND EQUIPMENT)	EA	10	\$2,976.19	\$29,761.90
660-3-60	VEHICLE DETECTION SYSTEM - MICROWAVE (REMOVE) (COMPLETE SYSTEM)	EA	10	\$1,388.89	\$13,888.90
660-3-80	VEHICLE DETECTION SYSTEM - MICROWAVE (PREVENTATIVE MAINTENANCE) (COMPLETE SYSTEM)	EA	10	\$1,071.43	\$10,714.30

EXHIBIT B Updated: 5/25/16
Emergency Response Traffic Signal Contract
Contract Number: Z7041
District-Wide Traffic Operations

ITEM NUMBER	ITEM DESCRIPTION	UNITS	Quantity	UNIT PRICES	EXTENDED PRICE
660-3-90	VEHICLE DETECTION SYSTEM - MICROWAVE (DIAGNOSIS AND MISCELLANEOUS REPAIR) (COMPLETE SYSTEM)	EA	10	\$1,944.44	\$19,444.40
660-4-10	VEHICLE DETECTION SYSTEM - VIDEO (F&I) (COMPLETE SYSTEM)	EA	1000	\$44,351.11	\$44,351,110.00
660-4-11	VEHICLE DETECTION SYSTEM - VIDEO (F&I) (CABINET EQUIPMENT)	EA	1000	\$8,352.38	\$8,352,380.00
660-4-12	VEHICLE DETECTION SYSTEM - VIDEO (F&I) (ABOVE GROUND EQUIPMENT)	EA	100	\$9,168.89	\$916,889.00
660-4-30	VEHICLE DETECTION SYSTEM - VIDEO (INSTALL) (COMPLETE SYSTEM)	EA	100	\$3,045.71	\$304,571.00
660-4-31	VEHICLE DETECTION SYSTEM - VIDEO (INSTALL) (CABINET EQUIPMENT)	EA	100	\$1,015.24	\$101,524.00
660-4-32	VEHICLE DETECTION SYSTEM - VIDEO (INSTALL) (ABOVE GROUND EQUIPMENT)	EA	100	\$676.83	\$67,683.00
660-4-40	VEHICLE DETECTION SYSTEM - VIDEO (RELOCATE) (COMPLETE SYSTEM)	EA	10	\$6,608.57	\$66,085.70
660-4-41	VEHICLE DETECTION SYSTEM - VIDEO (RELOCATE) (CABINET EQUIPMENT)	EA	10	\$1,522.86	\$15,228.60
660-4-42	VEHICLE DETECTION SYSTEM - VIDEO (RELOCATE) (ABOVE GROUND EQUIPMENT)	EA	10	\$4,578.10	\$45,781.00
660-4-50	VEHICLE DETECTION SYSTEM - VIDEO (ADJUST/MODIFY) (COMPLETE SYSTEM)	EA	10	\$2,030.48	\$20,304.80
660-4-51	VEHICLE DETECTION SYSTEM - VIDEO (ADJUST/MODIFY) (CABINET EQUIPMENT)	EA	10	\$1,015.24	\$10,152.40
660-4-52	VEHICLE DETECTION SYSTEM - VIDEO (ADJUST/MODIFY) (ABOVE GROUND EQUIPMENT)	EA	10	\$676.83	\$6,768.30
660-4-60	VEHICLE DETECTION SYSTEM - VIDEO (REMOVE) (COMPLETE SYSTEM)	EA	10	\$2,030.48	\$20,304.80
660-4-80	VEHICLE DETECTION SYSTEM - VIDEO (PREVENTATIVE MAINTENANCE) (COMPLETE SYSTEM)	EA	10	\$1,015.24	\$10,152.40
660-4-90	VEHICLE DETECTION SYSTEM - VIDEO (DIAGNOSIS AND MISCELLANEOUS REPAIR) (COMPLETE SYSTEM)	EA	10	\$1,015.24	\$10,152.40
660-6-111	VEHICLE DETECTION SYSTEM - AVI (F&I) (TRANSPONDER) (CABINET EQUIPMENT)	EA	10	\$35,277.78	\$352,777.80
660-6-112	VEHICLE DETECTION SYSTEM - AVI (F&I) (TRANSPONDER) (ABOVE GROUND EQUIPMENT)	EA	10	\$42,420.63	\$424,206.30
660-6-121	VEHICLE DETECTION SYSTEM - AVI (F&I) (BLUETOOTH) (CABINET EQUIPMENT)	EA	10	\$4,642.86	\$46,428.60
660-6-122	VEHICLE DETECTION SYSTEM - AVI (F&I) (BLUETOOTH) (ABOVE GROUND EQUIPMENT)	EA	10	\$20,277.78	\$202,777.80
663-1-110	SIGNAL PRIORITY AND PREEMPTION SYSTEM (F&I) (OPTICAL) (COMPLETE SYSTEM)	EA	10	\$13,070.16	\$130,701.60
663-1-120	SIGNAL PRIORITY AND PREEMPTION SYSTEM (F&I) (GPS) (COMPLETE SYSTEM)	EA	10	\$13,070.16	\$130,701.60
663-1-130	SIGNAL PRIORITY AND PREEMPTION SYSTEM (F&I) (RADIO FREQUENCY)	EA	10	\$13,070.16	\$130,701.60
663-1-310	SIGNAL PRIORITY AND PREEMPTION SYSTEM (INSTALL) (OPTICAL) (COMPLETE SYSTEM)	EA	1	\$2,030.48	\$2,030.48
663-1-311	SIGNAL PRIORITY AND PREEMPTION SYSTEM (INSTALL) (OPTICAL) (CABINET ELECTRONICS)	EA	1	\$1,015.24	\$1,015.24
663-1-312	SIGNAL PRIORITY AND PREEMPTION SYSTEM (INSTALL) (OPTICAL) (DETECTOR)	EA	1	\$676.83	\$676.83
663-1-320	SIGNAL PRIORITY AND PREEMPTION SYSTEM (INSTALL) (GPS) (COMPLETE SYSTEM)	EA	1	\$2,030.48	\$2,030.48
663-1-321	SIGNAL PRIORITY AND PREEMPTION SYSTEM (INSTALL) (GPS) (CABINET ELECTRONICS)	EA	1	\$1,015.24	\$1,015.24

EXHIBIT B Updated: 5/25/16
Emergency Response Traffic Signal Contract
Contract Number: Z7041
District-Wide Traffic Operations

ITEM NUMBER	ITEM DESCRIPTION	UNITS	Quantity	UNIT PRICES	EXTENDED PRICE
663-1-322	SIGNAL PRIORITY AND PREEMPTION SYSTEM (INSTALL) (GPS) (DETECTOR)	EA	1	\$676.83	\$676.83
663-1-330	SIGNAL PRIORITY AND PREEMPTION SYSTEM (INSTALL) (RADIO FREQUENCY) (COMPLETE SYSTEM)	EA	1	\$2,030.48	\$2,030.48
663-1-331	SIGNAL PRIORITY AND PREEMPTION SYSTEM (INSTALL) (RADIO FREQUENCY) (CABINET ELECTRONICS)	EA	1	\$1,015.24	\$1,015.24
663-1-332	SIGNAL PRIORITY AND PREEMPTION SYSTEM (INSTALL) (RADIO FREQUENCY) (DETECTOR)	EA	1	\$676.83	\$676.83
663-1-400	SIGNAL PRIORITY AND PREEMPTION SYSTEM (RELOCATE)	EA	1	\$4,060.95	\$4,060.95
663-1-500	SIGNAL PRIORITY AND PREEMPTION SYSTEM (ADJUST/MODIFY)	EA	10	\$1,015.24	\$10,152.40
663-1-600	SIGNAL PRIORITY AND PREEMPTION SYSTEM (REMOVE)	EA	10	\$1,015.24	\$10,152.40
665-1-11	PEDESTRIAN DETECTOR (F&I) (STANDARD)	EA	100	\$423.65	\$42,365.00
665-1-12	PEDESTRIAN DETECTOR (F&I) (ACCESSIBLE)	EA	10	\$3,138.25	\$31,382.50
665-1-30	PEDESTRIAN DETECTOR (INSTALL)	EA	100	\$253.81	\$25,381.00
665-1-40	PEDESTRIAN DETECTOR (RELOCATE)	EA	1	\$338.41	\$338.41
665-1-50	PEDESTRIAN DETECTOR (ADJUST/MODIFY)	EA	1	\$84.60	\$84.60
665-1-60	PEDESTRIAN DETECTOR (REMOVE-POLE/PEDESTAL TO REMAIN)	EA	1	\$84.60	\$84.60
670-4-1	INTERSECTION CONTROL BEACON CONTROLLER ASSEMBLY (F&I)	AS	10	\$1,669.13	\$16,691.30
670-5-110	TRAFFIC CONTROLLER ASSEMBLY (F&I) (NEMA) (NONE)	AS	100	\$41,001.43	\$4,100,143.00
670-5-112	TRAFFIC CONTROLLER ASSEMBLY (F&I) (NEMA) (2 PREEMPTION)	AS	100	\$41,001.43	\$4,100,143.00
670-5-142	TRAFFIC CONTROLLER ASSEMBLY (F&I) (2070) (2 PREEMPTION)	AS	100	\$42,699.84	\$4,269,984.00
670-5-152	TRAFFIC CONTROLLER ASSEMBLY (F&I) (ATC) (2 PREEMPTION)	AS	100	\$42,699.84	\$4,269,984.00
670-5-300	TRAFFIC CONTROLLER ASSEMBLY (INSTALL)	AS	10	\$5,334.76	\$53,347.60
670-5-400	TRAFFIC CONTROLLER ASSEMBLY (MODIFY)	AS	10	\$2,794.76	\$27,947.60
670-5-600	TRAFFIC CONTROLLER ASSEMBLY (REMOVE)	AS	100	\$1,015.24	\$101,524.00
671-2-11	TRAFFIC CONTROLLER (F&I) (NEMA)	EA	100	\$4,922.86	\$492,286.00
671-2-13	TRAFFIC CONTROLLER (F&I) (2070)	EA	100	\$4,922.86	\$492,286.00
671-2-30	TRAFFIC CONTROLLER (INSTALL)	EA	10	\$1,015.24	\$10,152.40
671-2-40	TRAFFIC CONTROLLER (MODIFY)	EA	10	\$1,015.24	\$10,152.40
671-2-50	TRAFFIC CONTROLLER (RELOCATE)	EA	10	\$1,015.24	\$10,152.40
676-1-114	TRAFFIC SIGNAL CONTROLLER CABINET (F&I) (WIRED) (NEMA, TYPE 4, 24"W X 46"H X 16"D)	EA	100	\$12,048.57	\$1,204,857.00
676-1-117	TRAFFIC SIGNAL CONTROLLER CABINET (F&I) (WIRED) (NEMA, TYPE 7, 44"W X 72"H X 24"D)	EA	100	\$23,088.25	\$2,308,825.00
676-1-300	TRAFFIC SIGNAL CONTROLLER CABINET (INSTALL)	EA	10	\$4,827.14	\$48,271.40
676-1-400	TRAFFIC SIGNAL CONTROLLER CABINET (RELOCATE)	EA	10	\$4,827.14	\$48,271.40
676-1-500	TRAFFIC SIGNAL CONTROLLER CABINET (ADJUST / MODIFY)	EA	100	\$1,354.92	\$135,492.00
676-1-600	TRAFFIC SIGNAL CONTROLLER CABINET (REMOVE)	EA	100	\$676.83	\$67,683.00
676-2-111	ITS CABINET (F&I) (POLE MOUNT) (336, 24"W X 36"H X 20"D)	EA	10	\$13,070.16	\$130,701.60
676-3-10	SMALL EQUIPMENT ENCLOSURE (F&I)	EA	10	\$932.22	\$9,322.20
678-1-104	CONTROLLER ACCESSORIES (F&I) (LOAD SWITCH)	EA	100	\$86.46	\$8,646.00
678-1-110	CONTROLLER ACCESSORIES (F&I) (TYPE 4, TIME SWITCH)	EA	100	\$1,626.24	\$162,624.00
678-1-112	CONTROLLER ACCESSORIES (F&I) (MASTER CLOCK UNIT)	EA	100	\$1,441.11	\$144,111.00
680-1-110	SYSTEM CONTROL EQUIPMENT (F&I) (ADAPTIVE SIGNAL CONTROL SYSTEM) (NEMA) (COMPLETE SYSTEM)	EA	100	\$29,205.08	\$2,920,508.00
680-1-111	SYSTEM CONTROL EQUIPMENT (F&I) (ADAPTIVE SIGNAL CONTROL SYSTEM) (NEMA) (CABINET EQUIPMENT)	EA	100	\$28,189.84	\$2,818,984.00

EXHIBIT B Updated: 5/25/16
Emergency Response Traffic Signal Contract
Contract Number: Z7041
District-Wide Traffic Operations

ITEM NUMBER	ITEM DESCRIPTION	UNITS	Quantity	UNIT PRICES	EXTENDED PRICE
680-1-112	SYSTEM CONTROL EQUIPMENT (F&I) (ADAPTIVE SIGNAL CONTROL SYSTEM) (NEMA) (ABOVE GROUND EQUIPMENT)	EA	100	\$5,261.27	\$526,127.00
680-1-300	SYSTEM CONTROL EQUIPMENT (INSTALL)	EA	10	\$2,030.48	\$20,304.80
680-1-400	SYSTEM CONTROL EQUIPMENT (RELOCATE)	EA	10	\$3,045.71	\$30,457.10
680-1-500	SYSTEM CONTROL EQUIPMENT (ADJUST / MODIFY)	EA	10	\$1,015.24	\$10,152.40
680-1-600	SYSTEM CONTROL EQUIPMENT (REMOVE)	EA	10	\$1,353.65	\$13,536.50
680-1-900	SYSTEM CONTROL EQUIPMENT (DIAGNOSTIC AND MISC REPAIR)	EA	10	\$2,030.48	\$20,304.80
682-1-11	CCTV CAMERA (F&I) (DOME ENCLOSURE, PRESSURIZED)	EA	10	\$10,468.25	\$104,682.50
682-1-12	CCTV CAMERA (F&I) (EXTERNAL ENCLOSURE, PRESSURIZED)	EA	10	\$10,944.44	\$109,444.40
682-1-13	CCTV CAMERA (F&I) (DOME ENCLOSURE, NON-PRESSURIZED)	EA	10	\$10,674.60	\$106,746.00
682-1-14	CCTV CAMERA (F&I) (EXTERNAL ENCLOSURE, NON-PRESSURIZED)	EA	10	\$11,103.17	\$111,031.70
682-1-50	CCTV CAMERA (ADJUST/MODIFY)	EA	10	\$674.60	\$6,746.00
682-1-70	CCTV CAMERA (REMOVE AND STOCKPILE)	EA	10	\$595.24	\$5,952.40
685-106	SYSTEM AUX. (UNINTERRUPTIBLE POWER SOURCE)(UPS)	EA	300	\$9,845.71	\$2,953,713.00
700-3501	SIGN PANEL, RELOCATE, UP TO 12 SF	EA	1000	\$762.38	\$762,380.00
700-3502	SIGN PANEL, RELOCATE, 12-20 SF	EA	1000	\$1,016.51	\$1,016,510.00
700-3601	SIGN PANEL, REMOVE, UP TO 12 SF	EA	1000	\$253.81	\$253,810.00
700-3602	SIGN PANEL, REMOVE, 12-20 SF	EA	1000	\$338.41	\$338,410.00
700-5-21	INTERNALLY ILLUMINATED ST. SIGN F&I UP TO 12 SF	EA	500	\$5,769.52	\$2,884,760.00
700-5-22	INTERNALLY ILLUMINATED ST. SIGN F&I 12 - 18 SF	EA	500	\$7,297.46	\$3,648,730.00
700-5-60	INTERNALLY ILLUMINATED ST. SIGN REMOVE	EA	500	\$676.83	\$338,415.00
				Total Bid	\$1,051,345,270.84